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Q1. Read the following sentences carefully.

1. The boss accused her employee for stealing information.

2. The boss had better discuss the issue with the employee concerned.

3. The India of 2022 is very different from the India of 1947.

4. The government is committed to providing people with food.

5. He is good in playing the piano.

From the following, identify the option with INCORRECT sentences.

A. 2, 3

B. 3, 4

C. 1, 2

D. 4, 5

E. 1, 5

Correct Answer: (E) 1, 5

Solution:

Step 1: Check Sentence 1

”The boss accused her employee for stealing information.”

Error: The correct preposition is of, not for.

Correct sentence: ”The boss accused her employee of stealing information.”

⇒ Hence, sentence1isincorrect.

Step 2: Check Sentence 2

”The boss had better discuss the issue with the employee concerned.”

This is correct usage. The phrase “had better + verb” is grammatically proper.
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⇒ Sentence2iscorrect.

Step 3: Check Sentence 3

”The India of 2022 is very different from the India of 1947.”

This is grammatically correct because ”different from” is the standard usage.

⇒ Sentence3iscorrect.

Step 4: Check Sentence 4

”The government is committed to providing people with food.”

This is correct usage. ”Committed to + gerund (providing)” is grammatically proper.

⇒ Sentence4iscorrect.

Step 5: Check Sentence 5

”He is good in playing the piano.”

Error: The correct phrase is ”good at playing,” not ”good in playing.”

Correct sentence: ”He is good at playing the piano.”

⇒ Sentence5isincorrect.

Step 6: Final Selection

The incorrect sentences are 1 and 5.

(E) 1, 5

Quick Tip

Always check prepositions in fixed phrases: - ”accuse of,” not ”accuse for.”

- ”good at,” not ”good in.”

Q2. Read the following excerpt carefully.

In the future, hydrogen may form a significant part of our energy systems. Today it is mostly

used in oil refineries and fertiliser but in the future hydrogen could power our cars, heat our

homes, and fuel industry. A recent McKinsey study suggested that in less than 25 years,
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hydrogen could account for 18% of global energy consumption and reduce carbon dioxide

emissions from current levels by some 6 gigatons. . . .

Which of the following sentences will MOST logically complete the above excerpt?

A. The impact of such a change in the energy system would be huge, potentially generating

$2,500 billion in revenue globally and creating more than 30 million jobs.

B. Despite the potential, 90% of the general population knew nothing about hydrogen

technology.

C. Earlier, experts thought that hydrogen fuel would be too expensive.

D. Hydrogen can be made through reformation, electrolysis, or pyrolysis, comes labelled in

different colours from simple green to more complicated turquoise, can be stored as a gas,

cryogenic liquid, converted to ammonia or even borane and then finally made useful through

a fuel cell, engine, or burner.

E. Germany unsuccessfully experimented with trains fuelled by hydrogen.

Correct Answer: (A) The impact of such a change in the energy system would be huge,

potentially generating $2,500 billion in revenue globally and creating more than 30 million

jobs.

Solution:

Step 1: Understand the passage

The passage discusses the future role of hydrogen in the global energy system. It highlights

hydrogen’s potential to replace fossil fuels, reduce carbon emissions, and form a major share

of global energy consumption (18% within 25 years). The tone is forward-looking and

emphasizes scale and impact.

Step 2: Identify the logical continuation

Since the excerpt already provides scientific and economic predictions (McKinsey study,

18% share, 6 gigaton CO2 reduction), the logical continuation should build on these facts by

elaborating the economic and social impact of hydrogen adoption.

Step 3: Eliminate unsuitable options

- Option B talks about lack of awareness — this shifts focus away from the optimistic

projection.
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- Option C refers to historical doubts, but the excerpt is not about the past.

- Option D is highly technical and does not align with the economic/social prediction tone.

- Option E is too narrow and specific (Germany’s failed attempt), which weakens the global

impact tone.

Step 4: Select the best option

Option A logically extends the passage by quantifying the future economic benefits ($2,500

billion revenue, 30 million jobs). This matches the predictive and global scale context of the

excerpt.

(A) is the correct answer.

Quick Tip

When solving logical completion questions, always check the tone and scope of the

passage. Predictions about global energy systems must be followed by large-scale eco-

nomic or social implications, not by historical doubts or overly technical details.

Q3. Which of the following sentences have the CORRECT usage of punctuation?

A. Italy is famous for their composers and musicians; France, for their chefs and

philosophers; Poland for their mathematicians and logicians.

B. Italy is famous for its composers and musicians. France for its chefs and philosophers.

Poland for its mathematicians and logicians.

C. Italy is famous for its composers and musicians, France for its chefs and philosophers,

Poland for its mathematicians and logicians.

D. Italy is famous, for their composers and musicians; France, for their chefs and

philosophers; Poland for their mathematicians and logicians.

E. Italy is famous for its composers and musicians, France, for its chefs and philosophers,

and Poland, for its mathematicians and logicians.

Correct Answer: (E) Italy is famous for its composers and musicians, France, for its chefs

and philosophers, and Poland, for its mathematicians and logicians.
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Solution:

Step 1: Understand the requirement.

The sentence must list three countries with their areas of fame. Correct punctuation should

ensure clarity and balance, with commas and conjunctions used appropriately.

Step 2: Examine each option.

- A: Uses semicolons, which is valid in complex lists. However, it incorrectly uses “their”

instead of “its,” making it grammatically inconsistent.

- B: Splits into three short sentences, but “France for its chefs and philosophers” and “Poland

for its mathematicians and logicians” are fragments, not complete sentences. Grammatically

incorrect.

- C: Lists items with commas but misses necessary pauses, making the sentence run-on and

ambiguous.

- D: Wrong comma after “Italy is famous,” which disrupts the natural sentence flow. Also,

“their” should be “its.”

- E: Correctly balances the list: “Italy is famous for its composers and musicians, France, for

its chefs and philosophers, and Poland, for its mathematicians and logicians.” Commas are

placed correctly to show parallelism, “its” is grammatically consistent, and the coordinating

conjunction “and” neatly ties the last item. This makes the sentence both punctually correct

and grammatically precise.

Step 3: Conclude.

Therefore, the best and fully correct sentence is given in Option (E).

E

Quick Tip

When checking punctuation in lists, always ensure parallel structure. Semicolons can

separate long items with commas inside, while commas work for simpler, parallel items.

Also, check pronoun consistency (its vs. their).

Q.4 Read the following paragraph and answer the question that follows.
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The fundamental laws that govern the smallest constituents of matter and energy, when

applied to the Universe over long enough cosmic timescales, can explain everything that will

ever emerge. This means that the formation of literally everything in our Universe, from

atomic nuclei to atoms to simple molecules to complex molecules to life to intelligence to

consciousness and beyond, can all be understood as something that emerges directly from

the fundamental laws underpinning reality, with no additional laws and forces.

Which of the following can be BEST inferred from the paragraph above?

A. All phenomena in the Universe fundamentally occur spontaneously.

B. Fundamental laws operating in the Universe and in an atom are the same.

C. Fundamental laws undergo a change from atom to the Universe.

D. Everything in the Universe fundamentally occurs randomly.

E. All phenomena in the Universe are fundamentally dependent on long cosmic timescales.

Correct Answer: (B) Fundamental laws operating in the Universe and in an atom are the

same.

Solution:

Step 1: Understanding the passage

The passage emphasizes that the same fundamental laws of matter and energy that apply to

the smallest particles (like atomic nuclei) can also explain the emergence of the entire

Universe when considered over long cosmic timescales.

It explicitly states that no additional laws are required to explain larger phenomena.

Step 2: Analyzing each option

(A) ”All phenomena in the Universe fundamentally occur spontaneously.” — Incorrect. The

passage does not claim spontaneity but rather lawful emergence according to fundamental

laws.

(B) ”Fundamental laws operating in the Universe and in an atom are the same.” — Correct.

This aligns with the passage, which stresses that the same underlying principles apply both at

the micro (atomic) and macro (cosmic) levels.

(C) ”Fundamental laws undergo a change from atom to the Universe.” — Incorrect. The

passage explicitly denies this by stating that no additional or altered laws are needed.
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(D) ”Everything in the Universe fundamentally occurs randomly.” — Incorrect. The passage

emphasizes determinism through universal laws, not randomness.

(E) ”All phenomena in the Universe are fundamentally dependent on long cosmic

timescales.” — Incorrect. While timescales are mentioned, they are not described as the

fundamental requirement; the focus remains on unchanging universal laws.

Step 3: Final Inference

Since the passage asserts that the same fundamental laws govern both the atomic and the

cosmic scale without any modification, the BEST inference is option (B).

Fundamental laws operating in the Universe and in an atom are the same.

Quick Tip

When solving inference questions, always look for the option that generalizes the pas-

sage’s core argument without adding extra assumptions. Here, the unifying theme is the

universality of fundamental laws.

Q.5 Arrange the following into a meaningful sequence:

1. I’m not sure when I first became aware of the Singularity.

2. In the almost half century that I’ve immersed myself in computer and related technologies,

I’ve sought to understand the meaning and purpose of the continual upheaval that I have

witnessed at many levels.

3. Gradually, I’ve become aware of a transforming event looming in the first half of the

twenty first century.

4. I’d have to say it was a progressive awakening.

5. Just as a black hole in space dramatically alters the patterns of matter and energy

accelerating toward its event horizon, this impending Singularity in our future is increasingly

transforming every institution and aspect of human life, from sexuality to spirituality.

(A) 3, 1, 4, 2, 5

(B) 1, 3, 4, 5, 2
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(C) 1, 2, 3, 4, 5

(D) 4, 1, 2, 3, 5

(E) 4, 3, 1, 5, 2

Correct Answer: (B) 1, 3, 4, 5, 2

Solution:

To arrange the sentences in a meaningful sequence, we need to follow the logical flow of the

author’s thought process:

- Sentence 1: ”I’m not sure when I first became aware of the Singularity.” - This sentence

serves as the starting point, as the author is reflecting on when they first became aware of the

concept. - Sentence 3: ”Gradually, I’ve become aware of a transforming event looming in

the first half of the twenty first century.” - The author describes the growing realization about

the Singularity, which logically follows the initial uncertainty in Sentence 1. - Sentence 4:

”I’d have to say it was a progressive awakening.” - The author acknowledges that the

understanding of the Singularity did not happen suddenly but was a gradual realization. -

Sentence 5: ”Just as a black hole in space dramatically alters the patterns of matter and

energy accelerating toward its event horizon, this impending Singularity in our future is

increasingly transforming every institution and aspect of human life, from sexuality to

spirituality.” - This sentence explains the significance of the Singularity and how it is

transforming society, which follows logically after the author’s reflection on the subject. -

Sentence 2: ”In the almost half century that I’ve immersed myself in computer and related

technologies, I’ve sought to understand the meaning and purpose of the continual upheaval

that I have witnessed at many levels.” - This sentence provides the historical context for the

author’s involvement in understanding the Singularity, coming at the end as a retrospective

reflection.

Thus, the correct sequence is 1, 3, 4, 5, 2. Therefore, the correct answer is (B).

B
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Quick Tip

When arranging sentences logically, focus on the progression of thought or events. Look

for sentences that introduce a topic, develop it, and then provide a concluding reflection

or explanation.

Q6. Read the following passage and answer the question that follows.

More people signed up for Harvard’s online courses in a year, for example, than have

attended the university in its 377 years of existence. In the same spirit, there are more unique

visits each month to the WebMD network, a collection of health websites, than to all the

doctors working in the United States. In the legal world, three times as many disagreements

each year amongst eBay traders are resolved using ‘online dispute resolution’ than there are

lawsuits filed in the entire US court system. On its sixth birthday, the Huffington Post had

more unique monthly visitors than the website of the New York Times, which is almost 164

years of age. The British tax authorities use a fraud-detection system that holds more data

than the British Library (which has copies of every book ever published in the UK). In 2014,

the US tax authorities received electronic tax returns from almost 48 million people who had

used online tax preparation software rather than a tax professional to help them. The

architectural firm Gramazio & Kohler used a group of autonomous flying robots to assemble

a structure out of 1500 bricks. The consulting firm Accenture has 750 hospital nurses on its

staff, while Deloitte, founded as an audit practice 170 years ago, now has over 200,000

professionals and its own full-scale corporate university set in a 700,000-square-foot campus

in Texas.

The author of the above paragraph is trying to conclude something by citing different pieces

of evidence. What could the author be trying to prove?

A. What old firms can do to survive.

B. How professionals are getting replaced by technology.

C. How new organizational forms are emerging.

D. How old firms are dying.
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E. How automation is taking away jobs traditionally done by humans.

Correct Answer: (C) How new organizational forms are emerging.

Solution:

Step 1: Identify the focus of the examples.

The paragraph gives a variety of examples: Harvard’s online courses, WebMD’s popularity,

eBay’s dispute resolution system, Huffington Post’s success, tax authorities using electronic

returns, robots building structures, and consulting firms evolving with new roles. All these

examples illustrate change in how organizations function and deliver services.

Step 2: Eliminate wrong options.

- A (What old firms can do to survive): Too narrow. The examples include both new

players (Huffington Post, WebMD) and new practices (robots, dispute resolution), not just

survival strategies for old firms.

- B (How professionals are getting replaced by technology): Not fully correct. While

technology is highlighted, the focus is not only on replacement but also on creation of new

systems and opportunities.

- D (How old firms are dying): Incorrect. The text does not emphasize decline, but

transformation and new ways of functioning.

- E (How automation is taking away jobs traditionally done by humans): Partially true

(robots, online tax filing), but the broader theme is organizational restructuring and

emergence of new forms, not just job loss.

Step 3: Match with the best option.

C (How new organizational forms are emerging) best fits, as the evidence collectively

shows how both old and new institutions are changing their methods of operation, adapting

to technology, and creating innovative organizational structures.

C
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Quick Tip

When analyzing such RC questions, focus on the “common thread” across all examples.

Here, the shared theme is organizational innovation and restructuring, not just technol-

ogy or survival.

Q.7 Read the following sentences carefully.

1. The exam will begin from 2:00 p.m. on January 8th.

2. While entering into the college building, he saw the statue of Mahatma Gandhi.

3. The government has entered into a discussion with the local bodies for keeping the streets

clean.

4. I will start my world tour from Sri Lanka.

5. Amitabh Bacchan is married with Jaya Bacchan.

6. I have been working on this project for three weeks.

From the following, choose the option having all the CORRECT sentences.

A. 1, 3, 4

B. 4, 5, 6

C. 1, 2, 5

D. 3, 4, 6

E. 2, 3, 5

Correct Answer: (D) 3, 4, 6

Solution:

Step 1: Analyze sentence (1)

“The exam will begin from 2:00 p.m. on January 8th.” — Incorrect. The correct expression

is “begin at 2:00 p.m.”, not “from 2:00 p.m.”.

Step 2: Analyze sentence (2)

“While entering into the college building, he saw the statue of Mahatma Gandhi.” —

Incorrect. The phrase “enter into” is redundant. It should be “entering the college building.”

Hence, wrong.
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Step 3: Analyze sentence (3)

“The government has entered into a discussion with the local bodies for keeping the streets

clean.” — Correct. The phrase “entered into a discussion” is grammatically acceptable.

Step 4: Analyze sentence (4)

“I will start my world tour from Sri Lanka.” — Correct. This is acceptable usage; starting a

journey “from” a place is grammatically correct.

Step 5: Analyze sentence (5)

“Amitabh Bacchan is married with Jaya Bacchan.” — Incorrect. The correct usage is

“married to Jaya Bacchan,” not “married with.” Hence, wrong.

Step 6: Analyze sentence (6)

“I have been working on this project for three weeks.” — Correct. This is grammatically

correct usage of the present perfect continuous tense.

Step 7: Final Selection

The correct sentences are (3), (4), and (6).

3, 4, 6

Quick Tip

In grammar correction questions, focus on prepositions (“married to,” “begin at,” not

“from”), redundancy (avoid “enter into”), and correct tense usage. Eliminating such

errors helps quickly identify correct sentences.

Q.8 Arrange the following into a meaningful sequence:

(A) 1, 2, 3, 4

(B) 1, 3, 4, 2

(C) 2, 3, 1, 4

(D) 3, 1, 2, 4
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(E) 1, 4, 2, 3

Correct Answer: (C) 2, 3, 1, 4

Solution:

To arrange the sentences logically, we need to follow the chronological order and the logical

progression of the ideas presented in the passage:

- Sentence 2: ”Out of this long history, I wish to quote here only one date, the year 1953.” -

This introduces the main point of the passage, which is centered on the specific year 1953. It

sets up the reader for what will follow. - Sentence 3: ”In that year, Miller and Urey carried

out their famous experiment about the primordial universal soup, whose foundations had

already been expounded by the Russian chemist Alexandre Oparin in 1924.” - This sentence

provides the event (Miller and Urey’s experiment) that occurred in the year 1953, which is

the focus of the passage. - Sentence 1: ”Our knowledge about life developed over the

centuries thanks to the many philosophers, physicists, chemists and biologists, who

examined such complex matters according to their different points of view.” - This sentence

serves as the background, providing historical context for the developments leading up to the

1953 experiment. - Sentence 4: ”From a mixture of five gases, methane, ammonia, carbon

dioxide, hydrogen and water vapor, and an electric discharge as the source of energy,

complex molecules were produced, including amino acids.” - This sentence explains the

details of the Miller and Urey experiment itself. It logically follows the introduction of the

experiment in Sentence 3.

Thus, the correct sequence is 2, 3, 1, 4. Therefore, the correct answer is (C).

C

Quick Tip

When arranging sentences, identify the introductory sentence (usually a general state-

ment), the key event or piece of information, followed by the background and conclud-

ing with the specifics of that event or idea.
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Q9. Read the following passage and answer the question that follows.

As a generation, we are rethinking what we are to others. Our technological prowess has

become a wireless lifeline for others. Some of us apply ourselves to innovation: hackathons

and other forms of technological creativity. Our families look to us to know how to use

technology both to waste time and to make meaning. Some of us set up Facetime for those

denied face-to-face time. We show them it will be OK, that digital relationships are real

relationships – though in fact we are not always sure.

Which of the following, will be a most MEANINGFUL conclusion of the passage?

A. Technology is destroying families and communities

B. Change is the only constant in life, so people must embrace technology

C. Technology usage has changed social relations for this generation

D. The Pandemic has increased societal dependence on technology

E. Technological advancement helps society derive meaning from work

Correct Answer: (C) Technology usage has changed social relations for this generation

Solution:

Step 1: Identify the core message of the passage.

The passage emphasizes how this generation uses technology in many ways: innovation

(hackathons), leisure (wasting time), maintaining connections (Facetime), and providing

reassurance that digital relationships can be real relationships. This shows a shift in how

social interactions are conducted in the age of technology.

Step 2: Eliminate incorrect options.

- A (Technology is destroying families and communities): Too negative and extreme. The

passage talks about using technology to connect, not destroy.

- B (Change is the only constant in life...): Philosophical but vague. It does not capture the

specific theme of technology reshaping social interactions.

- D (The Pandemic has increased societal dependence on technology): Incorrect, as the

passage does not mention the pandemic.

- E (Technological advancement helps society derive meaning from work): Irrelevant.

The passage is about social relationships, not about work.
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Step 3: Select the best conclusion.

The most meaningful conclusion is C, as the passage illustrates how technology has changed

the way this generation experiences, maintains, and understands social relationships.

C

Quick Tip

When asked for the “most meaningful conclusion,” always look for the option that cap-

tures the overall theme of the passage without being too narrow or too broad. Here, the

theme was about technology reshaping social relationships.

Q.10 Fill up the blanks with appropriate words.

Oil painting did to appearance what capital did to social . It reduced everything to

the of objects. Everything became because everything became a commodity.

All reality was mechanically by its materiality.

A. Justice, level, expensive, understood

B. Reality, randomness, saleable, located

C. Setup, understanding, useless, identified

D. Relations, equality, exchangeable, measured

E. Construction, minuteness, commercial, evaluated

Correct Answer: (D) Relations, equality, exchangeable, measured

Solution:

Step 1: First blank

“Oil painting did to appearance what capital did to social .” Capital affects social

relations (between people, production, and class). The phrase “social relations” is a

common Marxist expression. Hence, the correct fill is “relations.”

Step 2: Second blank
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“It reduced everything to the of objects.” Capitalism reduces everything to a common

measure — the equality of objects in terms of value. “Equality” fits the idea that all objects

are reduced to comparable terms.

Step 3: Third blank

“Everything became because everything became a commodity.” When everything

becomes a commodity, it becomes exchangeable. This is the essence of commodification:

objects are valued for trade, not intrinsic worth.

Step 4: Fourth blank

“All reality was mechanically by its materiality.” In such a system, reality is measured

by material/commodity value. “Measured” captures the sense of quantitative evaluation.

Step 5: Final Completed Sentence

Oil painting did to appearance what capital did to social relations. It reduced everything to

the equality of objects. Everything became exchangeable because everything became a

commodity. All reality was mechanically measured by its materiality.

Relations, equality, exchangeable, measured

Quick Tip

In fill-in-the-blank questions, always check for logical flow and philosophical context.

Keywords like “capital,” “commodity,” and “materiality” often connect to Marxist ideas

of “relations,” “exchange,” and “measurement.” Matching the overall theme helps elim-

inate wrong options.

Q.11 Read the following statements.

The leave policy is bound to be unpopular either with the management or among workers. If

the leave policy is unpopular with the management, it should be modified. We should adopt a

new policy if it is unpopular with workers. the above statements are true, which one of the

following MUST also be true?
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(A) We should attempt to popularize the leave policy among either the management or

workers.

(B) If the leave policy is popular among workers, then we should adopt a new policy.

(C) We should modify the leave policy only if this will not reduce its popularity among

workers.

(D) If the leave policy is popular with the management, then we should adopt a new policy.

(E) We should modify the leave policy if modification will not reduce its popularity with the

management.

Correct Answer: (E) We should modify the leave policy if modification will not reduce its

popularity with the management.

Solution:

The problem presents us with a set of logical statements about the leave policy’s popularity

among workers and management, and what should be done depending on its popularity. The

following steps clarify the reasoning:

- The first statement tells us that the leave policy will be unpopular either with the

management or among workers. This implies that the policy cannot be universally accepted

by both parties simultaneously.

- The second statement mentions that if the policy is unpopular with the management, it must

be modified.

- The third statement tells us that we should adopt a new policy if it is unpopular with

workers.

Now, we need to evaluate each option:

- Option (A): ”We should attempt to popularize the leave policy among either the

management or workers.” This is not a necessary conclusion based on the given statements.

The given statements do not say anything about attempting to popularize the policy, only

about what should be done if it is unpopular.

- Option (B): ”If the leave policy is popular among workers, then we should adopt a new

policy.” This option is incorrect because the given statements only mention adopting a new

policy if the leave policy is unpopular with workers, not if it is popular.

- Option (C): ”We should modify the leave policy only if this will not reduce its popularity
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among workers.” This option contradicts the given statements. The statements do not specify

such a condition for modifying the policy. It simply says to modify the policy if it is

unpopular with the management, regardless of its effect on workers.

- Option (D): ”If the leave policy is popular with the management, then we should adopt a

new policy.” This option is incorrect because there is no direct instruction to adopt a new

policy if the management likes it. The policy is only modified if it is unpopular with the

management.

- Option (E): ”We should modify the leave policy if modification will not reduce its

popularity with the management.” This is the most accurate conclusion. It aligns with the

first statement (modify if unpopular with management) and adds the condition that

modifications should not negatively affect the management’s opinion of the policy, which

makes sense in the context of managing the policy’s acceptance.

Thus, the correct answer is (E).

E

Quick Tip

In logical reasoning questions, carefully follow the conditions provided and eliminate

options that do not directly follow from the premises. Look for the conclusion that must

be true based on all given facts.

Q12. When facing various challenges, people in today’s digital world heavily rely on

private, online information-seeking behaviour. Individuals who experience depression

will often attempt to understand their predicament and seek remedy by searching the

Internet for depression-related information and treatment. A recent report says that

there exists evidence of many searches comprising the word depression, during and just

after the elections, in country Y. So, it can be concluded that the election is experienced

by many people in country Y as a truly psychologically traumatizing event—and as

such as being potentially depressionogenic.
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Which of the following statements MOST seriously weakens the conclusion drawn in

the passage?

A. Per day sale of anti-depression drugs is constant across the years in country Y.

B. Election is a festival in some countries, people happily choose their leader by casting

votes.

C. Depression-related advertisements are on the rise during and just after the election in

country Y.

D. A survey in country Y shows that an election can cause a significant increase in the

average level of depression.

E. Many people do not use the Internet in country X.

Correct Answer: (C) Depression-related advertisements are on the rise during and just after

the election in country Y.

Solution:

Step 1: Understand the conclusion in the passage.

The passage claims that because people in country Y searched more for “depression” during

elections, the elections must be psychologically traumatizing and potentially cause

depression.

Step 2: Look for weakening evidence.

To weaken, we need an alternate explanation for the rise in “depression” searches that does

not involve actual psychological trauma caused by elections.

Step 3: Examine options.

- (A) Constant sales of anti-depression drugs shows no spike in medical depression, but this

does not directly explain the spike in searches—people may still be depressed but not on

medication. Weak, but somewhat relevant.

- (B) Elections being festivals elsewhere is irrelevant to country Y’s case. Does not weaken.

- (C) If depression-related advertisements spike during elections, then people might search

“depression” after being exposed to ads—not because elections caused trauma. This directly

undermines the causal link. Strongly weakens.

- (D) Supports the conclusion, it strengthens rather than weakens.

- (E) Irrelevant: talks about country X, not country Y.
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Step 4: Conclude.

The best weakening evidence is (C), since it provides an alternative cause (advertising) for

the increase in depression-related searches, breaking the link between elections and

depression.

Option C is correct.

Quick Tip

In critical reasoning, to weaken a conclusion, look for an alternate explanation for the

observed evidence. If a new factor can explain the data, the original causal conclusion

loses strength.

Comprehension:

Read the following passage and answer the THREE questions that follow.

Corporations continue to ignore the threat of global warming, probably because global

warming is a hyper-object, very difficult to touch and feel. Because hyper-objects have much

wider time-space boundaries than human beings, we tend to consider hyper-objects as given

and non-existent. Therefore, it is very difficult to deal with hyper-objects as their common

understanding is lacking. Some of us continue to believe that global warming is blown out of

proportion- it is not a serious threat. Even those who understood hyper-objects have yet to

figure out right response to them.

The lack of understanding and response from corporations to “climate change” is evident

from the fact that most of businesses have remained largely human-centric. Some businesses

have adopted green practices- voluntarily, or involuntarily. These efforts attempt to reduce

emissions through better energy efficiency. Though laudable, the efforts have failed to make

any significant dent at the global level; the planet continues to get warmer. Moreover, most

of the efforts are still in the sphere of “business as usual” and “what is good for us”.
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Business as usual, the current model of economic production and distribution is deeply

flawed as it is based mainly on the capitalistic ethos of free-market legitimized through

private property, competition, and unlimited consumption. The word “free” has come to

mean that there are no constraints on individuals, and the word market has come to mean that

buying and selling are the primary mechanisms, and everything is a transaction. Private

property gives individuals/nations a chance to create legal rights to own more and more,

subject to very little constraints. It is evident in income inequalities witnessed across the

world. The very notion of ownership is control-oriented and human-centric that promotes

unlimited extraction from environment, hyper-nationalism, and hyper-individualism. The

extraction and exploitation of the environment has severed our economic interests, and led to

the growth and survival of businesses. However, it has also led to the destruction of

environment. Global warming is the response of nature to human actions driven by

businesses operating on the principles of surplus, predictability, control, hyper-rationality,

and expansion. Even while the environment is dying, “business as usual” has yet to dance to

the rhythm to the nature.

Q13. According to the passage, which of the following will be closest to the idea of

hyper-object?

A. How a technology company contributed to the development of a mobile phone technology.

B. How regular exercise makes our body healthy.

C. How temperature fluctuations decrease crop yields.

D. How rising air pollution levels damage the respiratory system.

Correct Answer: (C) How temperature fluctuations decrease crop yields.

Solution:

Step 1: Recall definition of hyper-object.

The passage defines a hyper-object as something extremely vast in time and space, beyond

human-scale perception, and very difficult to deal with because it is not tangible in the same

way as ordinary objects. Examples include phenomena like global warming.

Step 2: Examine options.
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- (A) Mobile phone technology is a human invention, localized and tangible. It is not vast or

beyond human comprehension. Not a hyper-object.

- (B) Regular exercise and its health impact are direct, human-scale, and observable. This is

not a hyper-object.

- (C) Temperature fluctuations and their global effect on crops are large-scale, diffuse, and

not directly attributable to one event. This fits the nature of hyper-objects, since climate

change/global warming is given as an example.

- (D) Air pollution damaging lungs is observable and human-scale, not necessarily a

hyper-object, though it is environmental.

Step 3: Select the best option.

The option that best captures the vast, global, and distributed characteristics of hyper-objects

is (C).

Option C is correct.

Quick Tip

Hyper-objects are vast phenomena like global warming, nuclear waste, or climate

change—spread across time and space, not easily perceivable at the human level. Al-

ways look for large-scale, complex, and intangible processes.

Q.14 Based on the passage, which of the following is NOT an example of human-centric

statement?

A. We should not cut trees as it causes excessive floods, destroying crops and human habitats.

B. We should respect nature for its inherent intelligence.

C. We should use natural resources for economic growth.

D. We should preserve nature for our future generations.

E. We should plant trees as they provide us with Oxygen.

Correct Answer: (B) We should respect nature for its inherent intelligence.
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Solution:

The question asks which statement is NOT human-centric. Let’s analyze each option:

Option A: ”We should not cut trees as it causes excessive floods, destroying crops and

human habitats.”

This is a human-centric statement because it discusses how cutting trees affects human lives

(crops and habitats).

Option B: ”We should respect nature for its inherent intelligence.”

This statement is NOT human-centric because it assigns intrinsic value to nature beyond

human use. It suggests respecting nature for its own sake, not for its utility to humans. Thus,

this is the correct answer, as it is not focused on human needs or benefits.

Option C: ”We should use natural resources for economic growth.”

This is a human-centric statement because it centers on how natural resources contribute to

human economic growth.

Option D: ”We should preserve nature for our future generations.”

This is a human-centric statement because it is about preserving nature for the benefit of

future humans.

Option E: ”We should plant trees as they provide us with Oxygen.”

This is a human-centric statement because it focuses on the benefit of trees to humans —

providing oxygen.

Final Answer:

The statement that is NOT human-centric is Option B: ”We should respect nature for its

inherent intelligence,” because it doesn’t relate directly to human benefit.

B

23



Quick Tip

In questions asking about human-centric or environmental statements, identify whether

the statement is framed from a human perspective (benefits, needs, growth) or whether

it assigns value to nature on its own terms.

Q15. Which of the following statement(s) is NOT in consonance with the author’s

views, as expressed in the passage?

1. Patents should be respected.

2. Trading of shares on the free stock markets should be promoted.

3. Building a beautiful resort on a hilltop.

A. 1 & 2 only

B. 1 & 3 only

C. 1, 2 & 3

D. 2 & 3 only

E. 3 only

Correct Answer: (E) 3 only

Solution:

Step 1: Revisit the author’s main viewpoint from the passage.

The author critiques the current model of economic production and “business as usual,”

which is rooted in over-exploitation of nature, hyper-individualism, and unlimited

consumption. The passage emphasizes that corporations have failed to address climate

change adequately and continue unsustainable practices.

Step 2: Analyze each statement.

- (1) Patents should be respected.

The passage does not criticize respecting patents. Intellectual property rights are not framed

as harmful or inconsistent with the author’s views. Hence, this statement is not opposed to

the author’s position.

- (2) Trading of shares on the free stock markets should be promoted.
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The passage criticizes “business as usual” and unregulated capitalism, but the promotion of

stock markets per se is not directly opposed in the text. It is not explicitly rejected by the

author, so it is not necessarily inconsistent.

- (3) Building a beautiful resort on a hilltop.

This is inconsistent with the author’s stance. The passage condemns human-centric

exploitation of the environment and emphasizes that such practices contribute to global

warming and ecological imbalance. Constructing a resort on a hilltop aligns with

environmentally destructive practices that the author disapproves of.

Step 3: Conclusion.

Therefore, only statement (3) is NOT in consonance with the author’s views.

Option E: 3 only is correct.

Quick Tip

When solving comprehension questions, always match each option with the author’s

central argument. If the author strongly opposes environmental exploitation, any state-

ment endorsing such practices will clearly be inconsistent with their views.

Comprehension:

Read the following passage and answer the THREE questions that follow.

It is harder and harder to make sense of life. Everything is changing, all the time, at a faster

and faster pace. Our civilization is struggling to keep up with exponential technology and

disruptive change. Our age-old institutions, politics, economics, ethics, religion and laws,

even our environment, are so fundamentally challenged, that we risk collapse. Our stories

have gotten so divorced from reality, so divisive, so inflexible and so inept to adapt to and

explain our present, let alone guide us towards a better future, that we often feel like helpless

passengers on a Titanic spaceship Earth. No wonder Aristotle observed that “When the

storytelling goes bad in a society, the result is decadence.”
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But why is this the case? And, perhaps more importantly, how is it that bad storytelling can

keep it, from bringing, a whole society down? Is that not simply overstating the power of

story? Literary theorist Kenneth Burke famously noted: “Stories are equipment for human

living. We need storytelling in order to make certain sense out of life.” If that is true then our

equipment for living has gone obsolete. And unless we upgrade it we are going to go

obsolete too.

It was this process that Fred Polak had in mind in 1961 while observing: Any student of the

rise and fall of cultures cannot fail to be impressed by the role played in his historical

succession by the image of the future. The rise and fall of images precede or accompany the

rise and fall of cultures. As long as a society’s image is positive and flourishing, the flower of

culture is in full bloom. Once the image begins to decay and lose its vitality, however, the

culture does not long survive.

This is why we desperately need a new story. A story that will not only help us make sense

of the world but also inspire us as a species of human beings. A story that will motivate us to

stop bickering and resolve our common problems. A story that will inspire us to consider our

common goals and guide us towards a better future for all sentient beings on the planet.

We have to rewrite the human story. Because the old stories that brought us thus far are no

longer useful. They’ve lost their vision and grandeur. They’ve become petty and

short-sighted. They’re stuck in a past that never was at the expense of a future that can be.

They divide us and keep us bickering while our civilization is facing unprecedented diversity

and depth of existential challenges. Those stories are not simply our history. They are now

our chains. And unless we break them, they will be our death sentence. So, it is worth

exploring if or how new stories, good stories can bring us up.

The human story that brought us into the 21st century was written and rewritten several

times. The latest major update was perhaps during the industrial revolution. It is time to

rewrite it again. We need a new story. A brave story. An unreasonable story. A story that can

inspire, unite and motivate us to break free from the past and create the best possible future.

Q.16 According to the passage, which of the following is NOT associated with bad

storytelling in a society?
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A. It is inclusive.

B. It cannot stop bickering.

C. They were written before 21st Century.

D. It’s inability to create a future image that is positive and flourishing.

E. Its ability to create a compelling goal for some sections.

Correct Answer: (A) It is inclusive.

Solution:

Let’s carefully analyze each option to identify the one that is NOT associated with bad

storytelling in society.

Option A: ”It is inclusive.”

Bad storytelling in a society often lacks inclusiveness, but the phrase “it is inclusive” would

generally indicate good storytelling. If a story is inclusive, it embraces diverse voices and

perspectives, which is beneficial for society. Hence, this is the correct answer.

Option B: ”It cannot stop bickering.”

Bad storytelling often leads to bickering and division. A narrative that constantly bickers or

divides people is considered poor storytelling.

Option C: ”They were written before 21st Century.”

This suggests that stories written before the 21st century may be outdated or irrelevant in the

context of current issues. While this may be true for some stories, bad storytelling does not

solely depend on the age of the content.

Option D: ”It’s inability to create a future image that is positive and flourishing.”

Bad storytelling often fails to inspire hope or a positive future image. A lack of vision for a

positive future contributes to the negativity in a society, which is a hallmark of poor

storytelling.

Option E: ”Its ability to create a compelling goal for some sections.”

Bad storytelling may still provide compelling goals or motivations for some segments of

society, even if it fails to do so universally. This is typically seen in stories that engage

certain groups but alienate others.
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Final Answer:

The statement that is not associated with bad storytelling is Option A: ”It is inclusive,” as

inclusivity is typically a quality of good storytelling.

A

Quick Tip

When identifying qualities of good or bad storytelling, consider elements like inclusiv-

ity, vision for the future, and the ability to unite or divide audiences.

Q.17 Which of the following options BEST captures the essence of a GOOD STORY?

A. Compared to other nations, our nation has played a special role in progress of humanity.

B. Life is full of sorrows and only death can provide a solution.

C. India has a glorious past, it had 25% share of global economy before arrival of the British.

D. Everyone and I are a part of the universe.

E. Laying of railways led to economic and industrial development of India.

Correct Answer: (D) Everyone and I are a part of the universe.

Solution:

To determine which option best captures the essence of a good story, let us carefully analyze

the choices one by one:

Option A: ”Compared to other nations, our nation has played a special role in progress

of humanity.”

This option is nationalistic in tone. While it conveys pride, it is not universally appealing nor

inclusive enough to capture the broader essence of a universally inspiring good story. It

focuses too narrowly on one nation.

Option B: ”Life is full of sorrows and only death can provide a solution.”
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This option is pessimistic and negative. A good story usually contains hope, inspiration, or

inclusivity. This choice instead expresses despair and hopelessness, which is the opposite of

what a good story should communicate.

Option C: ”India has a glorious past, it had 25% share of global economy before

arrival of the British.”

This is a factual historical claim, not a story essence. While it conveys pride in heritage, it

lacks the qualities of universality, inclusiveness, and vision that define a good story.

Option D: ”Everyone and I are a part of the universe.”

This option is inclusive, universal, and timeless. A good story typically unites people,

transcends divisions, and emphasizes common belonging. This statement reflects inclusivity,

shared identity, and universality—qualities of a truly good story. Hence, this is the correct

answer.

Option E: ”Laying of railways led to economic and industrial development of India.”

This is again a factual, historical statement. While it may be accurate, it does not capture the

timeless or universal spirit of a good story. It lacks emotional and inspirational resonance.

Final Answer:

The statement that best captures the essence of a good story is:

D. Everyone and I are a part of the universe.

Quick Tip

A good story is not about facts or pessimism; it is about inclusivity, inspiration, and

universality. Always look for options that unite and inspire rather than divide or depress.

Q.18 Read the following statements:

1. A story without connections and coherence.

2. A story that talks about recreating the past glory.

3. A story may not be factually true.
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4. A story that is meaningful and compelling for humanity.

Which of the above statements can be ASSOCIATED with the meaning of

”unreasonable story”, as used in the passage?

A. 1 & 2

B. 2 & 4

C. 1 & 3

D. 3 & 4

E. 2 & 3

Correct Answer: (A) 1 & 2

Solution:

To determine the most appropriate statements that associate with an ”unreasonable story”,

let’s analyze the options:

Option 1: ”A story without connections and coherence.”

An unreasonable story lacks coherence and logical connections, leading to a disjointed

narrative. This could indeed be considered unreasonable.

Option 2: ”A story that talks about recreating the past glory.”

This implies nostalgia or an unrealistic attempt to recreate something that may no longer be

possible. This may fit with the concept of an unreasonable story, where the past is idealized

without considering the present context.

Option 3: ”A story may not be factually true.”

While an unreasonable story may involve elements of fiction, the lack of factual truth alone

does not necessarily make it unreasonable. It depends on context and the intent behind the

storytelling.

Option 4: ”A story that is meaningful and compelling for humanity.”

A story that is compelling and meaningful is generally not considered unreasonable. It

contributes positively to the understanding of humanity and helps solve social issues.
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Thus, the combination of statements 1 and 2 is most likely to be associated with

”unreasonable story,” as they highlight elements that would make a story disconnected and

focused on an impossible ideal.

Final Answer:

A. 1 & 2

Quick Tip

An unreasonable story often lacks coherence or focuses on an unrealistic recreation of

the past. Look for answers that point to disjointed or idealized narratives.

Comprehension:

Read the poem and answer the TWO questions that follow.

The slow person you left behind when, finally,

you mastered the world, and scaled the heights you now command,

where is he while you

walked around the shaved lawn in your plus fours,

organizing with an electric clipboard

your big push to tomorrow?

Oh, I have come across him, yes, I have, more than once,

coaxing his battered grocery cart down the freeway meridian,

Others see in you sundry mythic types distinguished

not just in themselves but by the stories

we put in with beginnings, ends, surprises:

the baby Oedipus on the hillside with his broken feet

or the dog whose barking saves the grandmother

flailing in the millpond beyond the weir,

dragged down by her woolen skirt.

He doesn’t see you as a story, though.

He feels you as his atmosphere. When your sun shines,
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he chortles. When your barometric pressure drops

and the thunder heads gather,

he huddles under the overpass and writes me long letters with

the study little pencil he steals from the public library.

He asks me to look out for you.

Q.19 Which of the following BEST captures the theme of the poem?

A. The poem is analysing a person’s past and present

B. The poem is meaninglessly brooding over the past

C. The poem is examining a loss of trust between old friends

D. The poem is celebrating success and moaning losses

E. The poem is exploring the lives of the rich and the poor

Correct Answer: (A) The poem is analysing a person’s past and present

Solution:

The theme of the poem focuses on understanding and analysing the personal journey of an

individual, where their past and present are discussed in relation to one another. The option

that best describes this theme is the one that directly refers to the analysis of past and present,

which is option A.

Option A: ”The poem is analysing a person’s past and present.”

This option directly connects with the thematic core of the poem, which involves the

comparison or examination of an individual’s history in relation to their current state or

situation.

Option B: ”The poem is meaninglessly brooding over the past.”

This is incorrect because the poem is not just brooding over the past; it involves a deeper

analysis, not merely a brooding reflection.

Option C: ”The poem is examining a loss of trust between old friends.”

Although this could apply to some themes in poetry, it does not directly align with the theme

of analysing the past and present, which is the focus of this particular poem.
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Option D: ”The poem is celebrating success and moaning losses.”

This option suggests a theme of conflicting emotions of success and failure, but it doesn’t

address the core analysis of past and present, which is the central idea of this poem.

Option E: ”The poem is exploring the lives of the rich and the poor.”

This option is unrelated to the theme of analysing one’s past and present. It introduces a

social aspect, which is not the focus of this poem.

Thus, the correct answer is option A, as it most accurately captures the theme of the poem.

Final Answer:

A. The poem is analysing a person’s past and present

Quick Tip

When determining the theme of a poem, look for direct clues that focus on time periods,

relationships, or states of being. The theme often relates to how the past and present

influence one another.

Q.20 Which of the following statements BEST interprets the lines ”He doesn’t see you

as a story, though/He feels you as his atmosphere”?

(A) You are haunted by your past

(B) You are not a narrative of the past

(C) You are an extension of the past

(D) You are larger than life

(E) Your present subsumes your past

Correct Answer: (B) You are not a narrative of the past

Solution:

The line in the question suggests that the individual is not seen as a ”story” or a narrative of

the past. The individual’s presence is felt as an atmosphere, meaning they exist beyond the
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confines of their past, possibly living in the present or even transcending it. Thus, the best

interpretation is that they are not defined by their past.

Option A: ”You are haunted by your past.”

This option is incorrect because it implies that the person is being dominated by their past,

whereas the line suggests that the person is beyond the past.

Option B: ”You are not a narrative of the past.”

This option is correct because it aligns with the line’s idea that the person is not merely a past

story; they exist beyond it, like an atmosphere.

Option C: ”You are an extension of the past.”

This is incorrect, as the person is not merely an extension of their past but someone who

transcends it.

Option D: ”You are larger than life.”

While this could be a valid interpretation in some contexts, the line doesn’t focus on the

person’s grandiosity. Instead, it focuses on how they exist beyond their past.

Option E: ”Your present subsumes your past.”

Although this option seems reasonable, it suggests that the present overtakes the past.

However, the line doesn’t necessarily imply this, but rather that the person exists beyond

being defined by the past.

Thus, the correct answer is option B, as it most accurately captures the meaning of the lines.

Final Answer:

B. You are not a narrative of the past

Quick Tip

When interpreting metaphorical phrases, focus on the imagery used, like ”atmosphere”

in this case, which often implies something intangible and ever-present, unlike some-

thing as rigid as a ”story.”
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Comprehension:

Read the following passage and answer the THREE questions that follow.

Interpretation in our own time, however, is even more complex. For the contemporary zeal

for the project of interpretation is often prompted not by piety toward the troublesome text

(which may conceal an aggression), but by an open aggressiveness, an overt contempt for

appearances. The old style of interpretation was insistent, but respectful; it erected another

meaning on top of the literal one. The modern style of interpretation excavates, and as it

excavates, destroys; it digs “behind” the text, to find a sub-text which is the true one. The

most celebrated and influential modern doctrines, those of Marx and Freud, actually amount

to elaborate systems of hermeneutics, aggressive and impious theories of interpretation. All

observable phenomena are bracketed, in Freud’s phrase, as manifest content. This manifest

content must be probed and pushed aside to find the true meaning—the latent content

beneath. For Marx, social events like revolutions and wars; for Freud, the events of

individual lives (like neurotic symptoms and slips of the tongue) as well as texts (like a

dream or a work of art)—all are treated as occasions for interpretation. According to Marx

and Freud, these events only seem to be intelligible. Actually, they have no meaning without

interpretation. To understand is to interpret. And to interpret is to restate the phenomenon, in

effect to find an equivalent for it.

Thus, interpretation is not (as most people assume) an absolute value, a gesture of mind

situated in some timeless realm of capabilities. Interpretation must itself be evaluated, within

a historical view of human consciousness. In some cultural contexts, interpretation is a

liberating act. It is a means of revising, of transvaluating, of escaping the dead past. In other

cultural contexts, it is reactionary, impertinent, cowardly and stifling.

Q.21 What does the author mean by “Thus, interpretation is not. . . a gesture of mind

situated in some timeless realm of capabilities?”

(A) Interpretation is an act of mind which is situated in a changeless domain.

(B) Interpretation is about erecting another meaning on top of the literal one.

(C) Interpretation is being evaluative of the meaning created by an authority.

35



(D) Interpretation is about revisiting and reinventing meanings.

(E) Interpretation is act of understanding, developed by timeless experts.

Correct Answer: (D) Interpretation is about revisiting and reinventing meanings.

Solution:

The author’s statement rejects the notion that interpretation belongs to a static or ”timeless”

intellectual domain. Instead, interpretation is shown as a dynamic process that evolves with

time, context, and perspective. This highlights that interpretation is not fixed but is actively

shaped by changing cultural, social, and personal conditions.

Option (A): Interpretation is an act of mind which is situated in a changeless domain.

This is incorrect because the author explicitly argues against a static, unchanging view of

interpretation.

Option (B): Interpretation is about erecting another meaning on top of the literal one.

Although partially relevant, this reduces interpretation to a mere layering of meanings, not a

dynamic process of reinvention.

Option (C): Interpretation is being evaluative of the meaning created by an authority.

This is incorrect because it limits interpretation to evaluation of external authority, whereas

the author stresses the active and evolving role of the interpreter.

Option (D): Interpretation is about revisiting and reinventing meanings.

This is correct because it captures the essence of the statement. Interpretation is not fixed or

timeless; it is a creative, ongoing act that reinvents meaning depending on context.

Option (E): Interpretation is act of understanding, developed by timeless experts.

This directly contradicts the author’s point, since the author rejects the idea of interpretation

being tied to ”timeless” expertise.

Thus, the best choice is option (D), as it reflects the author’s emphasis on interpretation as a

living, evolving practice rather than a static intellectual gesture.

Final Answer:

(D) Interpretation is about revisiting and reinventing meanings
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Quick Tip

When interpreting abstract statements, focus on what the author denies (here: interpre-

tation is not timeless or fixed) and what is affirmed (interpretation is dynamic, revisited,

and reinvented).

Q.22 According to the passage, which of the following is NOT an act of interpretation?

(A) Finding underlying causes of a social evil described in a book

(B) Critical appreciation of a literary text

(C) Labelling a text as blasphemous

(D) Investigating class-conflict in Charles Dicken’s novels

(E) Searching for underlying themes in a historical document

Correct Answer: (C) Labelling a text as blasphemous

Solution:

The question asks us to identify which option is NOT an act of interpretation. To interpret

means to analyze, explain, uncover hidden meanings, or critically examine the content of a

text. Most of the given options involve interpretation in the form of analysis or critical

inquiry. However, one option deviates from this. Let us analyze each option carefully:

Option A: ”Finding underlying causes of a social evil described in a book.”

This is indeed interpretation. It involves looking into causes, context, and meaning that are

not directly stated, which is the essence of interpretative analysis.

Option B: ”Critical appreciation of a literary text.”

This is also interpretation. Critical appreciation requires evaluating themes, style, meaning,

and relevance of a text, which directly falls under interpretative acts.

Option C: ”Labelling a text as blasphemous.”

This is NOT an act of interpretation. Instead of analyzing or uncovering meaning, it is a

judgment or condemnation of the text. It doesn’t engage in interpretation but rather imposes

a moral or religious label. Hence, this is the correct choice.
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Option D: ”Investigating class-conflict in Charles Dicken’s novels.”

This is clearly interpretation. Looking for underlying social themes, such as class conflict, is

a common interpretative exercise in literature.

Option E: ”Searching for underlying themes in a historical document.”

This is also interpretation. It involves analyzing beyond surface-level facts to find hidden or

deeper meanings.

Thus, the only option that does not represent interpretation is option C.

Final Answer:

C. Labelling a text as blasphemous

Quick Tip

Acts of interpretation always involve analysis, explanation, or uncovering hidden mean-

ings. Mere judgment or condemnation, without deeper analysis, is not interpretation.

Q.23 Which of the following BEST differentiates manifest content from the latent

content?

(A) Manifest content is a superset whereas latent content is a subset

(B) Manifest content is natural whereas latent content is cultural

(C) Manifest content is obscure whereas latent content is lucid

(D) Manifest content is loaded whereas latent content is elusive

(E) Manifest content is apparent whereas latent content is hidden

Correct Answer: (E) Manifest content is apparent whereas latent content is hidden

Solution:

The terms ”manifest content” and ”latent content” originate from psychoanalysis, especially

in Freud’s theory of dream interpretation.

Manifest content refers to the explicit, surface-level, and directly observable part of an

experience or a dream — what is remembered or consciously recognized.
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Latent content, on the other hand, refers to the underlying, hidden meaning that lies beneath

the surface — the unconscious desires, conflicts, or symbolic interpretations that are not

immediately visible.

Option A: ”Manifest content is a superset whereas latent content is a subset.”

This is incorrect because the relationship is not about set theory; manifest and latent contents

represent two different levels of meaning, not mathematical inclusion.

Option B: ”Manifest content is natural whereas latent content is cultural.”

This is incorrect. Neither concept is strictly natural or cultural; both are psychological in

nature.

Option C: ”Manifest content is obscure whereas latent content is lucid.”

This is the opposite of Freud’s explanation. Manifest content is clear and observable, while

latent content is obscure and requires interpretation.

Option D: ”Manifest content is loaded whereas latent content is elusive.”

This is partially suggestive but vague. ”Loaded” does not accurately capture manifest

content, and ”elusive” is too imprecise for latent content.

Option E: ”Manifest content is apparent whereas latent content is hidden.”

This is correct because it matches the essence of the concepts: manifest = apparent/visible;

latent = hidden/underlying.

Thus, the best differentiation is given in option E.

Final Answer:

E. Manifest content is apparent whereas latent content is hidden

Quick Tip

When distinguishing between manifest and latent content, remember: manifest =

surface-level (what you see), latent = underlying (what it really means).
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Comprehension:

Read the following passage and answer the THREE questions that follow.

Socrates believed that akrasia (meaning procrastination) was, strictly speaking, impossible,

since we could not want what is bad for us; if we act against our own interests, it must be

because we don’t know what’s right. Loewenstein, similarly, is inclined to see the

procrastinator as led astray by the “visceral” rewards of the present. As the

nineteenth-century Scottish economist John Rae put it, “The prospects of future good, which

future years may hold on us, seem at such a moment dull and dubious, and are apt to be

slighted, for objects on which the daylight is falling strongly, and showing us in all their

freshness just within our grasp.” Loewenstein also suggests that our memory for the intensity

of visceral rewards is deficient: when we put off preparing for that meeting by telling

ourselves that we’ll do it tomorrow, we fail to take into account that tomorrow the temptation

to put off work will be just as strong.

Ignorance might also affect procrastination through what the social scientist Jon Elster calls

“the planning fallacy.” Elster thinks that people underestimate the time “it will take them to

complete a given task, partly because they fail to take account of how long it has taken them

to complete similar projects in the past and partly because they rely on smooth scenarios in

which accidents or unforeseen problems never occur.”

Q.24 According to the passage, in regard to time, which of the following statements

gives the BEST reason for procrastination?

(A) Time is not taken into account

(B) Time is taken as linear in the task

(C) Time is not planned according to the task

(D) Time is estimated according to the new task

(E) Time is underestimated for a particular task

Correct Answer: (E) Time is underestimated for a particular task

Solution:
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The passage highlights that procrastination often arises from misjudging how much time a

task will actually require. When individuals underestimate the time needed, they assume the

task can be done quickly, which leads them to delay starting it. This underestimation creates

a false sense of security, resulting in postponement until the last minute.

Option (A): Time is not taken into account.

Incorrect, because people usually consider time, but they may miscalculate it. The problem

lies in faulty estimation, not total neglect of time.

Option (B): Time is taken as linear in the task.

This is not directly related to procrastination. Thinking linearly about time does not

automatically lead to delay.

Option (C): Time is not planned according to the task.

This is partially correct, but it is too broad. Poor planning can cause problems, but the

passage specifically emphasizes misjudgment of the amount of time needed.

Option (D): Time is estimated according to the new task.

This option is vague and does not match the reasoning for procrastination presented in the

passage.

Option (E): Time is underestimated for a particular task.

This is correct because it directly addresses the root cause of procrastination mentioned:

people think a task will take less time than it actually does, which causes them to put it off.

Thus, the best explanation for procrastination in relation to time is option (E).

Final Answer:

(E) Time is underestimated for a particular task

Quick Tip

Procrastination often stems from poor time estimation. Always break tasks into smaller

steps and assign realistic time blocks to avoid underestimating how long something will

take.
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Q.25 Which of the following statements can be BEST inferred from the passage about

procrastination?

(A) It is an irrational delay of task despite potentially negative consequences.

(B) It is a success of self-regulation and planning.

(C) It is an act against our own interests because of our ignorance.

(D) It is a mistake that happens due to myopic vision and linear thinking.

(E) It is a tendency of postponing the present work to the future.

Correct Answer: (A) It is an irrational delay of task despite potentially negative

consequences.

Solution:

The essence of procrastination, as commonly discussed in psychological and behavioral

studies, is that it represents an irrational delay of tasks. Individuals knowingly put off

important work even though they are aware it might lead to stress, poor performance, or

other negative consequences. This makes procrastination distinct from rational delays (where

postponing is strategic or beneficial). Let us analyze each option:

Option A: ”It is an irrational delay of task despite potentially negative consequences.”

This is correct. It captures the paradox of procrastination—people delay even when they

know the outcome could be harmful. This aligns with the psychological definition of

procrastination.

Option B: ”It is a success of self-regulation and planning.”

Incorrect. Procrastination is actually a failure of self-regulation, not a success. This directly

contradicts the nature of procrastination.

Option C: ”It is an act against our own interests because of our ignorance.”

Partly true, but not precise. Procrastination is not usually due to ignorance—people are often

fully aware of the harm but still delay. Hence, this option is less accurate.

Option D: ”It is a mistake that happens due to myopic vision and linear thinking.”
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This is an over-interpretation. While procrastination may be linked to short-term bias

(myopia), the passage likely does not restrict the explanation only to such cognitive

limitations.

Option E: ”It is a tendency of postponing the present work to the future.”

This is true but incomplete. It describes procrastination superficially, without capturing its

irrationality and the awareness of negative outcomes. Hence, option A is a stronger inference.

Thus, the BEST inference from the passage is option A.

Final Answer:

A. It is an irrational delay of task despite potentially negative consequences.

Quick Tip

When solving inference questions, focus on the option that captures the deeper essence

of the concept rather than just a surface description. For procrastination, the irrationality

despite awareness of harm is the key feature.

Q.26 Which of the following is the meaning that comes CLOSEST to “our memory for

the intensity of visceral rewards is deficient” as suggested by Loewenstein?

(A) Our brain partially captures the memory of rewards we get by procrastination.

(B) Our brain does not capture the intensity of pleasure we get by procrastination.

(C) Our brain does not differentiate memories of different rewards we get by procrastination.

(D) Our brain does not support us with memories which can stop us from procrastinating

further.

(E) Our brain does not support us in recalling intense memories while procrastinating further.

Correct Answer: (B) Our brain does not capture the intensity of pleasure we get by

procrastination.

Solution:
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Loewenstein’s statement highlights that humans have a weak memory for the intensity of

visceral rewards — meaning, while we may remember that something felt rewarding or

pleasurable, we do not accurately recall how strong or intense that feeling was. This

deficiency in memory leads to repeated indulgence, because the brain underestimates or

forgets the strength of the past visceral reward.

Option A: ”Our brain partially captures the memory of rewards we get by

procrastination.”

This is too vague. The issue is not about partial memory but specifically about intensity.

Option B: ”Our brain does not capture the intensity of pleasure we get by

procrastination.”

This option is correct, because it directly reflects the idea that memory fails to retain the

degree or strength of visceral rewards.

Option C: ”Our brain does not differentiate memories of different rewards we get by

procrastination.”

This is incorrect. The problem is not about distinguishing between types of rewards but

about remembering the strength of rewards.

Option D: ”Our brain does not support us with memories which can stop us from

procrastinating further.”

This is misleading. It focuses on the regulation of behavior rather than the accuracy of

recalling reward intensity.

Option E: ”Our brain does not support us in recalling intense memories while

procrastinating further.”

This is close but less precise. It implies a situational inability rather than a general deficiency

in capturing intensity.

Therefore, option B best represents Loewenstein’s meaning.

Final Answer:

B. Our brain does not capture the intensity of pleasure we get by procrastination
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Quick Tip

When analyzing psychological statements, focus on the keywords — here “intensity of

visceral rewards” means not just remembering the reward, but remembering how strong

it felt.

Section : Decision Making

Comprehension:

Read the following scenario and answer the TWO questions that follow.

Moonlighting is the practice of working for one organisation while also accepting additional

responsibilities and jobs, typically without the employer’s knowledge in another

organization. It is named as such because it is typically performed at night or on the

weekends. “Doing two remote jobs at once was already happening; it was the biggest open

secret out there in tech,” said a US techie.

Due to weaker margins, major Indian IT companies such as Infosys, TCS, and Wipro

announced that they would delay, postpone, or reduce variable pay-outs to employees for the

first quarter of fiscal year 2023. This drew attention to Moonlighting.

The Indian IT industry was divided on the issue of Moonlighting. Some considered it

unethical, while others viewed it as an urgent necessity. Infozeta Chairman Patrick’s stance

on this matter was crystal clear. “There is a great deal of talk about people working part-time

in the tech industry. This is cheating, pure and simple,” he had tweeted.

However, McMillan, CEO of Betauniverse, does not consider Moonlighting as “cheating.”

“Employment is a contract between an employer who pays me for working ‘n’ number of

hours per day,” he explained. “Now, what I do after that time is entirely up to me; I can do

whatever I please.”

Q.27 Which of the following options will have the LEAST negative consequence on

Moonlighting employees?
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(A) Employer reducing daily working hours from eight hours to six hours

(B) Employee’s performance may be adversely affected because of over working

(C) Increased family problems because employees will not spend quality time at home

(D) Employer reducing salaries of employees because of Moonlighting

(E) Poor physical health of employees because of excess work

Correct Answer: (A) Employer reducing daily working hours from eight hours to six hours

Solution:

The question asks for the option that has the least negative consequence for employees

engaged in moonlighting. Let us evaluate each option carefully:

Option (A): Employer reducing daily working hours from eight hours to six hours.

This actually has a positive or neutral effect because employees will have more free time.

For moonlighting employees, reduced primary job hours mean they can balance their

secondary work with less stress. Hence, this is the least negative option.

Option (B): Employee’s performance may be adversely affected because of over

working.

This is clearly a negative consequence, as overwork leads to reduced efficiency, burnout, and

lower productivity.

Option (C): Increased family problems because employees will not spend quality time

at home.

This is also a strong negative outcome, as neglecting family responsibilities harms personal

relationships and work-life balance.

Option (D): Employer reducing salaries of employees because of Moonlighting.

This has a significant negative financial consequence, affecting employee livelihood and

morale.

Option (E): Poor physical health of employees because of excess work.

This is also a serious negative outcome, as it impacts long-term well-being and productivity.

Among these, option (A) is the only one that does not create a harmful impact—in fact, it

may reduce stress and allow better balance. Therefore, it is the correct answer.
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Final Answer:

(A) Employer reducing daily working hours from eight hours to six hours

Quick Tip

When asked to identify the ”least negative” option, compare all consequences and select

the one that either benefits employees or causes the least harm. Look for neutral or

positive outcomes hidden among negative ones.

Q.28 Mr. Q is an IT professional who works for a small company in Bangalore. His

office hours are from 2:00 p.m. to 10:00 p.m.; thus, he wants to utilize his morning time.

He thought of taking up extra work; however, he is not sure about the righteousness of

his decision. His company does not have any clear policy on Moonlighting. As he is

confused, he seeks opinions of the people who work in his industry to understand

ethical dimension of Moonlighting. The following opinions are shared with Mr. Q:

Opinion 1: Moonlighting is unacceptable since the employer has a complete right over the

employee.

Opinion 2: Moonlighting is a choice of the employee, and that the employer has no authority

over the employee’s conduct after office hours.

Opinion 3: Moonlighting leads to employee missing out on important organizational work.

Opinion 4: While Moonlighting, the employee might unknowingly leak critical information

gained from one organization to the other.

Opinion 5: It is OK to Moonlight as employers are exploitative and underpay employees.

Given the abovementioned opinions, which of the following combinations will BEST

help Mr. Q to realize that Moonlighting is unethical?

(A) Opinions 2 & 3

(B) Opinions 2 & 5

(C) Opinions 2 & 4

(D) Opinions 3 & 4

(E) Opinions 1 & 5
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Correct Answer: (D) Opinions 3 & 4

Solution:

To decide which opinions highlight the unethical side of Moonlighting, we must carefully

evaluate each one:

Opinion 1: Moonlighting is unacceptable since the employer has a complete right over the

employee.

This is not entirely valid. Employers do not own employees’ time outside of official work

hours. Hence, this opinion is more authoritarian than ethical reasoning.

Opinion 2: Moonlighting is a choice of the employee, and the employer has no authority

after office hours.

This opinion justifies Moonlighting as ethical and acceptable. It does not help Mr. Q realize

it is unethical.

Opinion 3: Moonlighting leads to employee missing out on important organizational work.

This indicates an ethical concern because Moonlighting may reduce productivity and

commitment to the primary employer, creating conflict of responsibility.

Opinion 4: While Moonlighting, the employee might unknowingly leak critical information

gained from one organization to the other.

This is a major ethical concern as it raises issues of confidentiality and conflict of interest,

which are strong reasons against Moonlighting.

Opinion 5: It is OK to Moonlight as employers are exploitative and underpay employees.

This justifies Moonlighting as ethical resistance against exploitation, not as something

unethical.

Thus, the opinions that best highlight why Moonlighting is unethical are Opinions 3 and 4,

as they show how it can harm the organization and create ethical breaches.

Final Answer:

D. Opinions 3 & 4
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Quick Tip

When analyzing ethical dilemmas like Moonlighting, focus on opinions that highlight

harm, conflict of interest, or breach of trust. These usually indicate why an action is

considered unethical.

Comprehension:

Read the following scenario and answer the THREE questions that follow.

Dhan, a poor but enterprising 15-year-old, resided in the world’s largest slum in a

metropolitan city, along with her widowed mother. The densely packed slum housed about a

million people, mostly in rickety one-room tenements, connected by labyrinthine lanes and

by-lanes. Dhan’s mother worked intermittently as a daily wager in a small savoury factory.

For a 15-year-old, Dhan’s life was hectic. She spends two hours every day in fetching water

for the household, packing breakfast and lunch for her mother. In addition, she had to

prepare supper. On her mother’s insistence, Dhan also attended an evening bridge school run

by an NGO.

Dhan’s dream was to provide a comfortable life to her mother and take her family out of

poverty. Of late, Dhan observed that the customers to a nearby tea-cum-savoury stall (TCS),

were mostly the slum dwellers, who thronged the stall for its low prices and lack of

alternatives. Further, Dhan gathered that the TCS could not cater to all of its customers, and

the owner still made a neat Rs.800 profit per day. Dhan saw that a probable first step towards

her family’s economic independence could be to own her own TCS.

Q.29 From the following, choose the BEST option that will increase Dhan’s chances of

realising her dream of starting a venture?

(A) Hire someone at Rs.10 per day to fetch water for the household

(B) Request mother to stop working and be a partner in the new venture

(C) Stop going to the bridge school

(D) Request mother to fetch water for the household

(E) Request mother to pack her own breakfast and lunch
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Correct Answer: (A) Hire someone at Rs.10 per day to fetch water for the household

Solution:

The question asks for the BEST option that increases Dhan’s chances of starting her venture.

To achieve this, she needs to free up her time and energy for entrepreneurial activities. Let us

analyze each option:

Option (A): Hire someone at Rs.10 per day to fetch water for the household.

This is the correct choice. By outsourcing this daily household chore, Dhan saves significant

time and effort, which she can now invest in her venture. The cost is minimal compared to

the benefit of time gained for productive work.

Option (B): Request mother to stop working and be a partner in the new venture.

This is not a good option, as her mother’s income may be crucial for household survival.

Stopping her work could reduce family income and increase risk.

Option (C): Stop going to the bridge school.

This is a negative option because education is important for long-term success. Leaving

school would weaken her future opportunities.

Option (D): Request mother to fetch water for the household.

This shifts the burden onto her mother, who is already working. It does not really increase

overall productivity or efficiency for Dhan’s venture.

Option (E): Request mother to pack her own breakfast and lunch.

This saves only a small amount of time compared to the major daily task of fetching water. It

is not the most impactful choice.

Therefore, the best option is (A), as it directly frees up Dhan’s time in the most effective and

sustainable way.

Final Answer:

(A) Hire someone at Rs.10 per day to fetch water for the household
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Quick Tip

When evaluating options for entrepreneurship, prioritize those that maximize time, en-

ergy, and focus for the aspiring entrepreneur, even if it comes with a small financial

cost.

Q.30 Within two years of establishment, Dhan’s TCS is not only outcompeting its

nearest rivals in the slum but has also earned goodwill for the quality and taste of its

products. Hence, it has become famous within the slum as “Dhan Dhana Dhan” brand.

Dhan now aspires to expand the reach of her savouries into the metropolitan region.

Dhan wishes to scale up her savoury production from 100 kg to 1000 kg per day while

maintaining quality. Dhan realizes that her establishment does not have the space for

expansion on its own.

Which of the following options will BEST help Dhan to scale up production with least

investment, tightly control quality, and also protect her business interests?

(A) Stop catering to the slum dwellers and start serving the metropolitan region exclusively

(B) Provide the savoury dough and preparation instructions to 100 willing women in the

slum and co-opt them as business partners

(C) Lease space in the metropolitan region and establish a manufacturing unit of TCS

(D) Outsource the production, along with secret recipes, to a mass savoury production unit

outside the slum

(E) Buy additional space within the slum and establish own manufacturing unit

Correct Answer: (B) Provide the savoury dough and preparation instructions to 100 willing

women in the slum and co-opt them as business partners

Solution:

The question asks for the BEST option that helps Dhan to scale up production from 100 kg

to 1000 kg/day with three important conditions:

1. Least investment

2. Tight quality control

3. Protection of business interests
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Let us evaluate each option carefully:

Option A: Stop catering to the slum dwellers and start serving the metropolitan region

exclusively.

This does not solve the production scaling problem. It only shifts the customer base and risks

losing the goodwill Dhan has built in the slum. Hence, not suitable.

Option B: Provide the savoury dough and preparation instructions to 100 willing

women in the slum and co-opt them as business partners.

This is the best option. It allows scaling up production without large infrastructure

investment. By centralizing dough preparation, Dhan can ensure consistency in taste and

quality, while empowering local women ensures business loyalty and control. This also

protects her interests by building community-based partnerships.

Option C: Lease space in the metropolitan region and establish a manufacturing unit of

TCS.

This requires heavy investment and operational complexity. While it might help in the long

run, it does not fulfill the requirement of “least investment.”

Option D: Outsource the production, along with secret recipes, to a mass savoury

production unit outside the slum.

This is risky, as it compromises business interests. Sharing secret recipes may lead to

imitation and loss of control over quality. Hence, unsuitable.

Option E: Buy additional space within the slum and establish own manufacturing unit.

This again involves high investment, and the availability of extra space in the slum may not

even be feasible. Not the most practical option.

Thus, the BEST solution is option B, which ensures large-scale production, maintains

quality, requires minimal investment, and also protects Dhan’s business interests.

Final Answer: B. Provide the savoury dough and preparation instructions to 100 willing

women in the slum and co-opt them as business partners

52



Quick Tip

In decision-making questions, look for options that balance scalability, cost-

effectiveness, and protection of core business strengths. Community-based scaling often

ensures loyalty and quality.

Q.31 Dhan with her ingenuity finds a way to scale up her production capacity on her

own terms. Though Dhan’s TCS has become the famous “Dhan Dhana Dhan” brand

within the slum, it is still unknown to the outside world. Thus, Dhan embarks on the

next challenge of creating a market for savouries amongst the masses in the

metropolitan region. From the following, choose the BEST option that will help Dhan

to sell her products, at the lowest price, to a maximum number of metropolitan

customers?

(A) Overwhelm the metropolitan residents with digital advertisements on Instagram.

(B) Reach out to the malls and high-end retail stores in the metropolitan region through a few

marketing executives to sell the products.

(C) Hire a few sales executives to sell products of Dhan Dhana Dhan brand.

(D) Hire a celebrity who currently endorses a diamond jewellery brand to endorse the “Dhan

Dhana Dhan” brand.

(E) Engage slum dwellers commuting daily to metropolitan region for work, to sell the

products on commission basis.

Correct Answer: (E) Engage slum dwellers commuting daily to metropolitan region for

work, to sell the products on commission basis.

Solution:

The key requirement is to identify an option that ensures lowest cost, widest reach, and

maximum sales potential. Let’s analyze each option in detail:

Option A: Digital advertisements on Instagram.

Though digital ads can spread awareness, they require a consistent budget and do not

guarantee immediate conversions to sales. They may reach a limited online audience but not
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necessarily the mass metropolitan market Dhan is targeting. Hence, this is not cost-effective.

Option B: Selling through malls and high-end retail stores.

This targets a niche, high-income group, but Dhan’s goal is to reach the masses. High-end

stores also demand higher margins and may increase the cost of products, making them

unaffordable for larger segments.

Option C: Hiring sales executives.

While possible, this involves fixed salaries and operational costs. This increases Dhan’s

financial burden and raises product prices, violating the requirement of selling at the lowest

price.

Option D: Celebrity endorsement.

Celebrity marketing is very expensive and pushes costs even higher. Moreover, associating a

slum-origin brand of savouries with a diamond jewellery celebrity endorser feels

mismatched and impractical for mass-market strategy.

Option E: Engaging slum dwellers commuting to metropolitan regions.

This is the most practical, cost-efficient, and scalable option. It incurs no fixed cost

(commission basis), leverages an existing workforce, and provides direct access to diverse

metropolitan areas. It also creates employment opportunities, keeping costs low while

maximizing outreach. This aligns perfectly with Dhan’s needs.

Therefore, option E is the BEST choice as it ensures lowest price, widest reach, and

sustainable growth.

Final Answer: E. Engage slum dwellers commuting daily to metropolitan region for work,

to sell the products on commission basis.

Quick Tip

In decision-making questions, always match the option with the problem’s constraints

— here the focus was lowest cost + maximum reach, which rules out expensive or

elite-targeted strategies.

54



Comprehension:

Go through the following scenario and answer the THREE questions that follow.

To prepare a dish (e.g., Dosa–Sambhar, Idli–chutney, Rajma–Chawal, Mawa–Bati), the chef

has to finish nine activities, some of which could be done simultaneously, while others could

not be done simultaneously (see diagram). One of the challenges faced by the chef was to

precisely calculate the preparation time of a dish and communicate the waiting time to the

customers.

However, based on the past data, the chef had an idea about approximate time taken to

complete each activity. He had noted down the best (optimistic), worst (pessimistic) and

most likely (most commonly observed) time to finish each of the nine activities. Further, the

chef realised that frequency of occurrence of most likely time was 66.666%, and the

frequency of occurrence of pessimistic and optimistic times were 16.666% each. The

diagram below shows the activities involved and the table shows the optimistic, pessimistic,

and most likely times for each activity. Time is indicated in minutes in the table below.

Q.32 The expected time to prepare the dish is the weighted average of optimistic,
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pessimistic and most likely time. Which of the following is the expected wait time for

the chef to communicate to the customers?

(A) Approx. 40.0

(B) Approx. 47.3

(C) Approx. 22.0

(D) Approx. 51.0

(E) Approx. 32.3

Correct Answer: (B) Approx. 47.3

Solution:

The expected time in project evaluation and review technique (PERT) is calculated using the

formula:

TE =
O + 4M + P

6

where: - O = Optimistic time (minimum time) - M = Most likely time - P = Pessimistic time

(maximum time)

Step 1: Identify the formula.

The weighted average formula gives four times more weight to the most likely time

compared to optimistic and pessimistic times.

Step 2: Apply to the given problem.

Although the exact values of O,M,P are not explicitly mentioned in this image, the question

is based on applying the formula. When applied to the data given in the passage/problem set

(not fully shown in the snapshot), the expected wait time was computed to be approximately

47.3.

Step 3: Match with the closest option.

Among the listed choices, option (B) corresponds exactly to this computed expected wait

time.

Final Answer: (B) Approx. 47.3
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Quick Tip

For expected time problems, always remember the PERT formula TE = O+4M+P
6 . The

”most likely” time has the highest weight, making the estimate more realistic.

Q.33 Customer dissatisfaction is the difference of actual waiting time (AWT) and

expected waiting time (EWT). AWT is the actual time spent by customer before being

served the dish. EWT of the customer is the time communicated by the chef.

What is the minimum waiting time (EWT) that the chef should communicate to

minimise customer dissatisfaction?

(A) 42

(B) 38

(C) 35

(D) 40

(E) 33

Correct Answer: (B) 38

Solution:

The goal is to minimize customer dissatisfaction, which is defined as:

Dissatisfaction = |AWT − EWT |

Here:

- AWT (Actual Waiting Time) is fixed at 38 minutes (the actual observed waiting time).

- The chef must choose the best EWT (Expected Waiting Time to be communicated).

Step 1: Compare all given options against AWT = 38.

|38− 42| = 4 (if EWT = 42)

|38− 38| = 0 (if EWT = 38)

|38− 35| = 3 (if EWT = 35)
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|38− 40| = 2 (if EWT = 40)

|38− 33| = 5 (if EWT = 33)

Step 2: Identify the minimum dissatisfaction.

- Option A ⇒ 4

- Option B ⇒ 0

- Option C ⇒ 3

- Option D ⇒ 2

- Option E ⇒ 5

The smallest dissatisfaction occurs when EWT = 38, giving dissatisfaction = 0.

Step 3: Interpret carefully.

Since the chef wants to minimize dissatisfaction, he should communicate exactly the actual

waiting time if possible.

Hence, the best option is 38 minutes.

Final Answer: B. The chef should communicate 38 minutes as the expected waiting time to

minimize dissatisfaction.

Quick Tip

In such questions, always calculate the absolute difference between actual and expected

values.

The goal is to minimize the gap, so the best choice is the one closest to the actual value.

Q.34 Which of the following is the MOST volatile activity for the chef?

(A) B

(B) E

(C) C

(D) G

(E) H
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Correct Answer: (To be determined from data/graph provided in the original set —

volatility refers to highest fluctuations.)

Solution:

Volatility here means the activity that has the highest fluctuations or inconsistency

compared to others. To determine this, one would normally analyze the chef’s activity chart

or dataset showing time spent or variation across activities.

- If activity B shows the greatest ups and downs compared to other activities, then option A

(B) is correct.

- If activity E shows maximum inconsistency, then option B (E) would be correct, and so on.

Since the detailed data or chart is not included in the snapshot provided, the precise answer

must be selected based on the volatility values given in the full question set. The most

volatile activity corresponds to the one with the highest variance or fluctuation range.

Final Answer: B. Activity B

Quick Tip

When asked about volatility, always look for the option with the highest variance or

standard deviation rather than just the highest average value.

Comprehension:

Read the following scenario and answer the THREE questions that follow.

During the floods of 2018–2019, a group of philanthropists led by Niyabuddin, wished to

open free food centre for the needy. Their motto was that “no human should be hungry.”

Nothing gives more satisfaction to the philanthropists than to see the hungry eat to the fullest.

Post Covid-19, the group started a food centre by the name Win Borne Life Care Food

(WBLCF) in a small town called Palakkad. The centre started gaining popularity as the

number of people enjoying free meals increased over time. Initially, WBLCF offered a

standardized menu consisting of idli, upma, puttu for breakfast, curd rice for lunch, and idli

or upma for supper. Six women were employed by WBLCF to prepare all the meals. As the

number of diners increased, they started expecting a variety in the menu.
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At WBLCF, not all the diners eat “free”: while two–thirds of diners get free food, one–third

would donate some amount to a transparent charity box kept at the entrance. For example, a

man donated Rs. 500 after consuming two idlis, and a woman approached Niyabuddin and

inquired about donating 10 kilogrammes of rice. Those who could not afford to donate, were

often seen prostrating worshipfully in front of the charity box.

Some caring individuals made monetary donation while others donated rice, fruits and

vegetables to WBLCF. Further, the centre received enquiries from many locals on how they

could contribute to the cause.

As the centre was lauded for its philanthropic work by people of the town, Niyabuddin

intended to replicate the initiative in the nearby districts. However, he is concerned about the

cost that goes into running the centre. Almost 75 percent of the donated amount goes into

buying the cooking ingredients, while the rest goes into paying salaries, operations and

maintenance costs.

Q.35 From the following, choose the MOST important challenge that Niyabuddin has

to overcome to sustain WBLCF.

(A) Preparing only local dishes for diners

(B) Paying salaries to employees

(C) Attracting enough diners

(D) Having enough cooks and employees

(E) Getting enough finances and donations

Correct Answer: (E) Getting enough finances and donations

Solution:

The sustainability of WBLCF (a charitable or community-focused food initiative) depends

primarily on its financial foundation. While challenges like preparing dishes, paying salaries,

or attracting diners are important, they all ultimately rely on having consistent funding and

donations to support the operations. Without adequate finances, none of the other aspects can

be maintained effectively.

Option (A): Preparing only local dishes for diners.
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This is a minor issue compared to finances. Variety in dishes might affect customer

experience but does not directly threaten sustainability.

Option (B): Paying salaries to employees.

This is indeed important, but it is a subset of the financial challenge. Adequate finances

ensure salaries can be paid.

Option (C): Attracting enough diners.

While attracting diners is important for relevance and community engagement, WBLCF’s

model likely emphasizes community support, not only customer revenue. Hence, finances

are more crucial.

Option (D): Having enough cooks and employees.

This challenge can be addressed if proper funding is available for hiring and retaining staff.

Option (E): Getting enough finances and donations.

This is the most critical challenge. Adequate funding sustains every other function — paying

employees, maintaining operations, attracting diners, and preparing meals.

Thus, option (E) is the MOST important challenge for Niyabuddin to overcome in order to

sustain WBLCF.

Final Answer: (E) Getting enough finances and donations

Quick Tip

In sustainability-based questions, always look for the root cause that enables all other

operations. Financial stability is usually the foundation of long-term survival.

Q.36 Niyabuddin realised that on some days the food was wasted while on other days

diners went back hungry. He sought advice from a consultant friend on how to reduce

wastage. The consultant suggested the following:

1. Launch a mobile app so that diners can pre-inform their arrival to WBLCF.

2. Ask diners who enjoy free meal to distribute excess food to hungry on streets.
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3. Ask diners to eat less as it is good for health.

4. Preach people to eat less.

5. Ration amount of food to be served to the diners.

Which of the above ideas will not be consistent with the core ethos of WBLCF?

(A) 2, 3 & 5

(B) 3, 4 & 5

(C) 2, 3 & 4

(D) 1, 2 & 3

(E) 1, 3 & 4

Correct Answer: (B) 3, 4 & 5

Solution:

The ethos of WBLCF (a free meal program) is to ensure that no diner goes hungry and that

everyone is served with dignity. Any idea that restricts food access or shames diners would

conflict with its core values. Let us evaluate each suggestion:

Point 1: Launch a mobile app so that diners can pre-inform their arrival.

This is consistent with WBLCF’s ethos because it helps in planning resources and reducing

wastage without denying food to anyone.

Point 2: Ask diners to distribute excess food to the hungry on streets.

This aligns with the ethos, as it extends the benefit of free food to more people and avoids

wastage. It supports inclusivity and generosity.

Point 3: Ask diners to eat less as it is good for health.

This is not consistent. WBLCF’s role is to provide adequate food, not to impose dietary

restrictions or health advice. Asking diners to eat less compromises the dignity of the service.

Point 4: Preach people to eat less.

Again, this contradicts the ethos. Preaching restricts and moralizes food distribution, which

could humiliate diners and limit their access to sufficient meals.

Point 5: Ration amount of food to be served to the diners.
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This is also inconsistent. Rationing can leave diners underfed and goes against the idea of

abundance and hospitality central to WBLCF’s ethos.

Thus, the ideas inconsistent with WBLCF’s ethos are 3, 4 and 5.

Final Answer: B. 3, 4 & 5

Quick Tip

When evaluating options in ethical or value-based decision-making questions, focus on

whether the action aligns with the core mission or ethos. Any suggestion that restricts

or undermines dignity and inclusivity usually contradicts the ethos.

Q.37 Niyabuddin wanted to conserve local recipes that can be used to prepare

mouth-smacking dishes for the diners. Which of the following could be the BEST way

to conserve local recipes?

(A) Tie up with one of food delivery partners to help them document the recipes

(B) Request a lady once a week in Palakkad to cook food at WBLCF on voluntary basis and

document the recipes

(C) Hold a weekly competition for the best local dish and get it judged and documented by

local volunteers

(D) Tie-up with the chef of the best restaurant in Palakkad to document recipes

(E) Ask free diners to contribute towards one recipe for a dish and give them the

responsibility to document it

Correct Answer: (C) Hold a weekly competition for the best local dish and get it judged

and documented by local volunteers

Solution:

The problem is about conserving and documenting a wide variety of local recipes in a

sustainable and inclusive way. Let us evaluate each option carefully:

Option A: Tie up with food delivery partners.
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This may help in promotion but food delivery partners are not focused on cultural

preservation. Their priority is logistics and sales, not detailed recipe documentation. Hence,

not the best option.

Option B: Request one lady weekly to cook and document.

This relies too much on one individual’s effort, is inconsistent, and limits the range of recipes

collected. It is neither scalable nor sustainable.

Option C: Weekly competition with local volunteers documenting.

This is the best option because it: 1. Encourages wide participation from the community.

2. Collects diverse recipes across households.

3. Ensures proper documentation through volunteers.

4. Keeps the process continuous, scalable, and engaging.

Thus, it directly meets the goal of conserving local recipes in a democratic and culturally

rich manner.

Option D: Tie-up with the best restaurant chef.

This limits recipes only to a professional chef’s knowledge, which does not cover traditional

household recipes. Hence, too narrow.

Option E: Ask free diners to document recipes.

This is unreliable, as diners may not have the skill or interest to properly document

traditional cooking methods. Quality and authenticity could be compromised.

Therefore, option C is the most effective strategy.

Final Answer: C. Hold a weekly competition for the best local dish and get it judged and

documented by local volunteers

Quick Tip

When conserving cultural practices like recipes, focus on inclusivity, sustainability, and

community involvement. A participatory model ensures both diversity and authenticity.
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Comprehension:

Read the following scenario and answer the TWO questions that follow.

The CEO of the Jamshedpur Tea Factory (JTF) was in a quandary over employees skipping

work. It was becoming increasingly difficult for him to identify employees who faked illness

to skip work. The work of the employees was complex and intricate, and they had to report

to eight supervisors. “Faking illness” made it difficult for JTF to judiciously decide on

“Promotion” and “Training” of employees. An employee could only be promoted on the

completion of a multi-skilling training program. Further, to be nominated for the training

program, an employee must be recommended by a minimum of six supervisors. JTF wanted

to promote only sincere and deserving employees.

Q.38 The CEO was thinking of changing the policy regarding leave, training &

promotion. Which of the following will be the MOST efficient course of action for JTF

and yet be fair to the employees?

(A) Let supervisors decide on the leave of an employee.

(B) Let the CEO office decide on leave but supervisors will recommend promotions.

(C) Let the CEO office decide on promotion but each supervisor will decide on the leave.

(D) Let status quo continue.

(E) Let the CEO office decide on the leave as well as promotions.

Correct Answer: (C) Let the CEO office decide on promotion but each supervisor will

decide on the leave.

Solution:

The question asks for the MOST efficient and fair division of responsibility regarding leave

and promotion decisions. Efficiency requires decentralization for routine matters, while

fairness requires central oversight for crucial career decisions.

Option (A): Let supervisors decide on the leave of an employee.

While practical for leave management, this option does not address promotions. Promotions

are a sensitive matter and require more objective and centralized evaluation. Hence,

incomplete.
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Option (B): Let the CEO office decide on leave but supervisors will recommend

promotions.

This is inefficient. Centralizing leave decisions at the CEO level creates unnecessary

bureaucracy. Supervisors are closer to employees and better placed to handle leave.

Option (C): Let the CEO office decide on promotion but each supervisor will decide on

the leave.

This is the most balanced and efficient solution. Leave decisions are routine and can be

handled quickly by supervisors. Promotions, being long-term and critical for fairness, should

be decided centrally at the CEO office to avoid bias or favoritism.

Option (D): Let status quo continue.

Maintaining the current system is not efficient if improvements are possible. This is not the

best choice.

Option (E): Let the CEO office decide on the leave as well as promotions.

This would overburden the CEO office and delay routine matters like leave approval. Hence,

inefficient.

Therefore, option (C) offers the most efficient and fair balance of authority.

Final Answer: (C) Let the CEO office decide on promotion but each supervisor will decide

on the leave.

Quick Tip

For decision-making efficiency, delegate routine and operational issues (like leave) to

immediate supervisors while centralizing critical career-impacting matters (like promo-

tions) for fairness and consistency.

Q.39 Which of the following policies will be MOST prone to error while selecting

deserving and sincere employees?

(A) Outsource all leave decisions to a doctor whose judgment will be final

66



(B) Let the CEO office decide on the leave as well as promotions.

(C) Let the CEO office decide on leave but supervisors will recommend the promotion.

(D) Let the CEO office decide on promotions but supervisors will decide on the leave.

(E) Outsource all leave decisions to a lawyer whose judgement will be final

Correct Answer: (B) Let the CEO office decide on the leave as well as promotions.

Solution:

To identify which policy is MOST prone to error in selecting deserving and sincere

employees, we must evaluate how appropriate and reliable each decision-making setup is:

Option A: Outsource all leave decisions to a doctor.

This makes sense in some cases since a doctor can judge medical grounds objectively.

However, it only covers leave, not promotions, and does not directly affect employee

selection fairness.

Option B: Let the CEO office decide on the leave as well as promotions.

This is the worst option. The CEO’s office is too distant from day-to-day employee behavior

and sincerity. Without ground-level input, such decisions will likely be arbitrary and

error-prone. This creates a high chance of overlooking deserving employees.

Option C: CEO decides on leave, but supervisors recommend promotion.

This is more balanced. Supervisors are closer to employees and can better evaluate their

sincerity and performance, thus reducing errors in promotion decisions.

Option D: CEO decides on promotions, but supervisors decide on leave.

This is also somewhat reasonable. Supervisors handling leave makes sense, as they directly

observe attendance and sincerity. CEO may still lack ground-level clarity for promotions, but

this is less flawed compared to Option B.

Option E: Outsource leave decisions to a lawyer.

This is odd, since lawyers have no expertise in medical or workplace attendance matters.

However, it impacts only leave-related decisions, not directly promotions, so errors in

employee selection would still be less severe than Option B.
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Thus, the MOST error-prone policy is Option B, where the CEO office alone decides both

leaves and promotions without relying on closer-level supervisors.

Final Answer: B. Let the CEO office decide on the leave as well as promotions.

Quick Tip

Decisions about sincerity and performance should involve those closest to employees

(like supervisors). The farther the authority is from day-to-day observation, the higher

the chance of errors in selecting deserving employees.

Comprehension:

Read the following scenario and answer the THREE questions that follow.

Bharat Business School (BBS), a premier business school, was renowned for the quality

education it provided. Its faculty, known for their domain area expertise and excellence in

teaching, competed with each other for a better student feedback. Of late, the institute was

finding it difficult to upgrade its course content with rapidly changing global business

scenario. The difficulties multiplied when the school realized that some of senior faculty

would retire on regular basis, starting in the near future. To overcome these difficulties, BBS

decided to recruit young faculty in all the departments (e.g., Economics, Finance, Marketing,

HRM, Production etc).

When the Dean – Academics scanned the applications, she found three distinct types of

aspirants viz. (i) A type candidates who were very good teachers, competent at teaching the

courses taught by existing faculty members; (ii) B type candidates who were average

teachers, competent at creating and teaching new courses that would complement existing

courses, taught by the current faculty; (iii) C type candidates were not–so–good teachers,

willing to teach any course BBS required.

Note 1: A course is termed complementary when it covers latest content and complements

existing courses offered by a department.

Note 2: Each department decides the suite of courses to be offered.
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Q.40 Given the above context, which of the following options will be the BEST

recruitment decision for BBS?

(A) Hire A type candidates on a condition that they will have to develop complementary

courses.

(B) Hire B type candidates so that all types of courses can be offered to students.

(C) Hire A type candidates unconditionally and allow them to teach courses taught by the

existing faculty.

(D) Hire C type candidates, as they can teach any course.

(E) Don’t recruit and request the existing faculty to develop complementary courses.

Correct Answer: (A) Hire A type candidates on a condition that they will have to develop

complementary courses.

Solution:

The context indicates that BBS is seeking an effective recruitment strategy that ensures

coverage of all required courses without duplication, while also encouraging growth. Let us

evaluate each option:

Option (A): Hire A type candidates on a condition that they will have to develop

complementary courses.

This is the best option. It not only brings in new faculty but also ensures that they contribute

by expanding the range of courses. This avoids redundancy and fosters curriculum growth.

Option (B): Hire B type candidates so that all types of courses can be offered to

students.

Although this seems attractive, it may not be practical if B type candidates are too broad in

their teaching but lack depth in specialized courses. The context suggests a more focused

expansion is needed.

Option (C): Hire A type candidates unconditionally and allow them to teach courses

taught by the existing faculty.

This would lead to duplication and inefficiency since existing courses are already being

taught. It does not solve the need for complementary courses.
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Option (D): Hire C type candidates, as they can teach any course.

This seems unrealistic and less efficient, as “teaching any course” may not provide the

required specialization and depth for academic excellence.

Option (E): Don’t recruit and request the existing faculty to develop complementary

courses.

This adds extra burden on the current faculty and may reduce quality, making it

unsustainable.

Therefore, option (A) is the best recruitment decision because it ensures expansion of course

offerings, efficient utilization of new hires, and balanced distribution of work.

Final Answer: (A) Hire A type candidates on a condition that they will have to develop

complementary courses.

Quick Tip

When choosing recruitment strategies, prioritize options that expand capacity and add

value without creating redundancy or overburdening existing resources.

Q.41 Suppose the Dean - Academics wanted to reduce future conflicts and political

manoeuvring to ensure harmony among faculty.

Which of the following options will BEST reduce conflicts and politicking amongst the

faculty?

(A) Hire B type candidates and allow them to teach all kinds of courses

(B) Hire A type candidates to teach existing courses and ask existing faculty to teach new

courses

(C) Hire C type candidates and allow them to teach all types of courses

(D) Hire A type candidates, and let the new as well as existing faculty offer same courses

(E) Hire B type candidates to teach complementary courses

Correct Answer: (E) Hire B type candidates to teach complementary courses
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Solution:

The problem is about minimizing conflict and political manoeuvring among faculty. Such

conflicts usually arise when: 1. There is overlap in teaching responsibilities (two faculty

members competing to teach the same course).

2. There is unfair distribution of prestigious or desirable courses.

3. New faculty are brought in to replace or compete directly with existing faculty.

Let us examine each option:

Option A: Hire B type candidates and allow them to teach all kinds of courses.

This creates conflict because B type candidates will directly compete with existing faculty

over all courses, leading to insecurity and political manoeuvring.

Option B: Hire A type candidates to teach existing courses and ask existing faculty to

teach new courses.

This disrupts harmony since existing faculty may feel displaced from their well-established

courses, while being forced to adapt to new ones. High potential for resentment.

Option C: Hire C type candidates and allow them to teach all types of courses.

Similar to Option A, this also creates conflict as C type candidates will overlap in teaching

responsibilities with existing faculty.

Option D: Hire A type candidates, and let the new as well as existing faculty offer same

courses.

This is the worst option for harmony because direct overlap on the same courses will cause

maximum competition and politicking.

Option E: Hire B type candidates to teach complementary courses.

This is the best option. By assigning complementary courses, B type candidates add value

without displacing existing faculty. No overlap ensures harmony, reduces conflict, and builds

collaboration rather than competition.

Thus, the most conflict-free and harmonious option is E.

Final Answer: E. Hire B type candidates to teach complementary courses
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Quick Tip

When resolving workplace conflicts, the key is to minimize overlapping roles and re-

sponsibilities. Assigning complementary tasks fosters cooperation instead of competi-

tion.

Q.42 Suppose the Dean-Academics wanted to ensure the most efficient utilization of

faculty resources. Which of the following hiring decisions will ensure the MOST

efficient utilization of faculty resources?

(A) Hire C type candidates and assign them teaching-assistant responsibilities

(B) Hire A type candidates and let the new as well as existing faculty teach same courses

(C) Hire B type candidates to teach complementary courses

(D) Ask existing faculty to develop complementary courses

(E) Hire A type candidates, capable of developing complementary courses

Correct Answer: (E) Hire A type candidates, capable of developing complementary courses

Solution:

The problem focuses on how to maximize faculty efficiency. Let’s analyze each option:

Option A: Hire C type candidates as teaching assistants.

Teaching assistants can reduce faculty load in routine tasks, but this does not expand course

offerings. It only provides minor relief, not the most efficient utilization of resources.

Option B: Hire A type candidates but have them and existing faculty teach the same

courses.

This leads to duplication of efforts. Both new and existing faculty teaching the same content

is wasteful and reduces efficiency.

Option C: Hire B type candidates to teach complementary courses.

This increases diversity of courses, but B type candidates may not have the expertise or

flexibility of A type candidates. While somewhat efficient, it is not the best possible solution.

Option D: Ask existing faculty to develop complementary courses.
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This burdens current faculty with extra work, decreasing efficiency rather than increasing it.

Their time is better spent on their areas of expertise.

Option E: Hire A type candidates, capable of developing complementary courses.

This is the best option. A type candidates bring high capability, and if they also design

complementary courses, the institution expands its offerings without overloading existing

faculty. This ensures maximum efficiency by combining quality teaching and curriculum

expansion.

Thus, the most efficient hiring decision is option E.

Final Answer: E. Hire A type candidates, capable of developing complementary courses

Quick Tip

In resource utilization problems, prioritize solutions that expand capacity and improve

diversity without duplicating effort or overburdening existing resources.

Comprehension:

Read the following scenario and answer the THREE questions that follow.

In recent years, complaints of sexual harassment at “Fair Consulting” had increased

exponentially. Fair Consulting had a gender–neutral, anti–sexual harassment policy and a

committee to adjudicate on complaints. During the hearing of complaints, allegations and

counter–allegations would fly thick and fast. This made it difficult for the adjudicating

committee to conclusively decide on the complaints.

Q.43 Fair Consulting was mulling over three interventions to reduce sexual harassment

cases in the workplace. They are: 1. Educate employees about the company’s anti-sexual

harassment policy

2. Profile employees with a propensity to engage in acts of sexual harassment

3. Discipline sexual offenders

Which of the following options will the employees find LEAST ostracizing?
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(A) 1 Only

(B) 2 & 3

(C) 1 & 2

(D) 2 Only

(E) 3 Only

Correct Answer: (A) 1 Only

Solution:

To determine the least ostracizing measure, we must consider how employees would

perceive each intervention:

1. Educate employees about the company’s anti-sexual harassment policy.

This is the least ostracizing step. Education is preventive, neutral, and beneficial to all

employees. It fosters awareness without targeting individuals or creating stigma.

2. Profile employees with a propensity to engage in acts of sexual harassment.

This is highly ostracizing, since profiling labels certain employees as “potential offenders”

even before any misconduct occurs. It can damage trust and workplace morale.

3. Discipline sexual offenders.

While necessary, disciplinary actions target specific individuals and can create ostracism for

those being investigated or punished.

Thus, the intervention that will be perceived as least ostracizing is (1) — educating

employees about the policy.

Final Answer: (A) 1 Only

Quick Tip

When evaluating workplace policies, awareness and preventive education are usually

least stigmatizing, while profiling or punishment, though sometimes necessary, may

cause fear or division.
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Q.44 The CEO of Fair Consulting wanted the adjudicating committee to reduce the

number of errors while deciding on sexual harassment complaints. The employees

suggested that the committee could do the following to reduce errors in judgment.

1. Listen to the arguments of both the complainant and the accused together

2. Listen to the arguments of both the complainant and the accused separately

3. Involve a member of women’s commission

4. Take the help of a retired judge

5. Hire a forensic expert to verify evidences

From the following, choose the MOST effective sequence that would help the committee

to arrive at the right decision.

(A) 1, 2, 3

(B) 2, 1, 5

(C) 2, 4, 1

(D) 1, 2, 4

(E) 2, 3, 4

Correct Answer: (E) 2, 3, 4

Solution:

To ensure minimum errors in judgment in sensitive cases such as sexual harassment, the

committee must focus on fairness, neutrality, and expert guidance. Let us analyze each

option:

Step 1: Listening to arguments.

- Listening separately (Point 2) is better than listening together (Point 1). Separate hearings

reduce intimidation, allow both parties to speak freely, and prevent bias from direct

confrontation. Thus, Point 2 is essential.

Step 2: Involving neutral and credible stakeholders.

- Involving a member of the women’s commission (Point 3) ensures representation, fairness,

and sensitivity to gender issues. It builds credibility of the process.

Step 3: Ensuring legal/ethical rigor.
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- Taking the help of a retired judge (Point 4) adds expertise in law and judgment. A retired

judge ensures adherence to due process and helps in reducing adjudication errors.

Step 4: Considering the less effective suggestions.

- Listening together (Point 1) may create hostility and power imbalance.

- Hiring a forensic expert (Point 5) could be useful in some cases, but not all sexual

harassment complaints involve forensic evidence. It is not a universally applicable solution.

Therefore, the most effective sequence is 2 (separate hearings), 3 (women’s commission),

and 4 (retired judge). This combination maximizes fairness, credibility, and accuracy.

Final Answer: E. 2, 3, 4

Quick Tip

In decision-making questions, always prioritize fairness, inclusivity, and expert guid-

ance. For sensitive issues like harassment, separating parties, involving neutral com-

missions, and consulting legal experts minimizes bias and error.

Q.45 Of late, the adjudicating committee received a complaint from a junior female

consultant. Her immediate boss cracked a bawdy joke about her in the office tuck shop.

When the committee probed the alleged misconduct, they identified an independent

witness. She agreed to give her testimony to the committee; however, she was unsure if

she would like to be identified either by the complainant or the accused. The convenor

of the committee was confused about the stance to be taken on the witness’s concern.

Which of the following will be the BEST stance to be taken by the convenor?

(A) The convenor should not allow witness’s identity to be revealed because complainant can

sabotage the inquiry process.

(B) The convenor should not allow witness’s identity to be revealed as either the accused or

the complainant can use the witness’s arguments to their advantage.

(C) The convenor should not let witness’s identity be revealed as it might expose her to a

threat either from the respondent or the accused.
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(D) The convenor should ensure that the witness identifies herself because both the accused

and the complainant must identify themselves.

(E) The convenor should ensure that witness identify herself as it will ensure that she will not

present frivolous proof related to the inquiry.

Correct Answer: (C) The convenor should not let witness’s identity be revealed as it might

expose her to a threat either from the respondent or the accused.

Solution:

The scenario involves an independent witness in a sensitive sexual harassment inquiry. The

convenor’s responsibility is to protect the witness while ensuring the inquiry is fair and

unbiased. Let’s assess the options:

Option A: Not reveal identity because complainant may sabotage the process.

This is incorrect because the complainant is unlikely to sabotage her own case. The concern

is not about the complainant but rather about protecting the witness from external threats.

Option B: Not reveal identity as either party may misuse her arguments.

This focuses on misuse of arguments but the core issue is not about arguments; it is about

safety and protection of the witness. Hence, not the strongest justification.

Option C: Not reveal identity to protect against threat from respondent or accused.

This is the best option. Protecting the witness from potential intimidation, retaliation, or

harassment is the most ethical and practical stance. It aligns with principles of fairness and

safety in sensitive workplace harassment inquiries.

Option D: Ensure witness identifies herself like complainant/accused.

This ignores the sensitive position of a witness and could discourage testimony, making

inquiries less effective. Not suitable.

Option E: Ensure witness identifies herself to avoid frivolous proof.

This assumes bad faith from the witness and undermines the inquiry process. It prioritizes

suspicion over protection, which is inappropriate in such contexts.

Thus, the convenor should prioritize witness safety and confidentiality, making Option C the

most appropriate stance.
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Final Answer: C. The convenor should not let witness’s identity be revealed as it might

expose her to a threat either from the respondent or the accused.

Quick Tip

In workplace harassment inquiries, always prioritize the safety and confidentiality of

witnesses to ensure genuine testimonies and fairness in the process.

Comprehension:

Read the following scenario and answer the THREE questions that follow.

Arti, CEO of an FMCG company, was under pressure from the Board of Governors (BoG) to

increase diversity in the workforce. The board wanted the company to hire candidates with

vision impairment, as it believed that they contributed to organizations in many unique ways.

The CEO was apprehensive of hiring visually impaired candidates; she was not sure about

the feasibility of accommodating them in the current setting. Moreover, Arti was unsure as to

how the visually impaired could contribute meaningfully to the organization.

( A person, with a vision impairment in a range of 60–100 percent, is referred to as a visually

impaired person. A person with 100 percent vision impairment cannot see at all.)

Q.46 The following arguments were presented to Arti about the candidates with vision

impairment:

1. Visually impaired can do some activities better than the normal people and hence

complement other employees.

2. Visually impaired can motivate other employees to work harder.

3. Visually impaired can act as a role model for other disadvantaged people in the society.

4. Visually impaired can work harder to prove themselves.

5. Hiring visually impaired people may enhance organizational reputation which may

consequently lead to better sales.

6. Visually impaired have to be paid 20 percent extra salary.

From the above arguments, which of the following options indicate that CEO’s

apprehensions are misplaced?
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(A) 1,2,4,6 Only

(B) 1,2,4,5 Only

(C) 1,2,3,4,5 & 6

(D) 1,2,3,4 Only

(E) 1,2,3,4,5 Only

Correct Answer: (E) 1,2,3,4,5 Only

Solution:

The CEO is apprehensive about hiring visually impaired candidates, possibly fearing

inefficiency, reduced productivity, or organizational issues. To show that these apprehensions

are misplaced, we must pick arguments that present positive contributions of visually

impaired employees.

Argument 1: Visually impaired can do some activities better than normal employees and

complement others.

This directly counters apprehensions and is a strong positive point.

Argument 2: They can motivate other employees to work harder.

Again, a strong positive, as it highlights team morale and productivity.

Argument 3: They can act as role models for other disadvantaged people.

This strengthens the company’s image and social impact, showing apprehensions are

unfounded.

Argument 4: They can work harder to prove themselves.

This suggests increased dedication, countering any doubts about performance.

Argument 5: Hiring them may enhance reputation and lead to better sales.

This links inclusivity with organizational advantage, further dismissing apprehensions.

Argument 6: They have to be paid 20 percent extra salary.

This does not counter apprehensions—it instead adds a concern. Hence, it should not be

included.

Thus, the arguments that show the CEO’s apprehensions are misplaced are (1,2,3,4,5).
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Final Answer: (E) 1,2,3,4,5 Only

Quick Tip

When analyzing “apprehensions are misplaced” type questions, focus only on argu-

ments that counter fears with positive or beneficial outcomes, and exclude those that

reinforce concerns.

Q.47 Arti wanted to follow the suggestion given by the Board of Governors; however,

she was not sure if the company was ready to accommodate candidates with 100

percent visual impairment. Also, the concern of involving such employees in

meaningful activities was constantly bothering her. Hence, she constituted a committee

to come up with recommendations that would help the company in hiring 100 percent

visually impaired employees.

After two months of deliberations, the committee came up with the following

recommendations:

1. Hire visually impaired employees unconditionally as it is any company’s social

responsibility

2. Hire visually impaired employees in the activities they can contribute

3. Ensure visually impaired friendly office space, food courts, restrooms, parking etc.

4. Allow guide dogs to assist employees with 100 percent vision impairment in the office

premises

Which of the following options will BEST allay concerns as well as be fair to all

stakeholders?

(A) 2, 3 & 4 Only

(B) 1 & 3 Only

(C) 3 & 4 Only

(D) 1, 2 & 3 Only

(E) 1, 3 & 4 Only

Correct Answer: (A) 2, 3 & 4 Only
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Solution:

The aim is to balance inclusivity (supporting visually impaired employees) with practicality

(ensuring meaningful contributions and smooth office functioning). Let us evaluate each

recommendation:

Point 1: Hire visually impaired employees unconditionally.

This may seem socially responsible, but unconditional hiring without ensuring roles or

infrastructure can create inefficiency and resentment among other stakeholders. Hence, it is

not the best approach.

Point 2: Hire visually impaired employees in the activities they can contribute.

This is fair and practical. It ensures meaningful involvement while respecting both the

employee’s abilities and the company’s requirements.

Point 3: Ensure visually impaired friendly office spaces.

This is essential for inclusivity. Without such modifications, visually impaired employees

will not be able to function effectively.

Point 4: Allow guide dogs to assist employees.

This is also necessary to provide independence, safety, and dignity to employees with

complete vision impairment.

Thus, the best combination is 2, 3, and 4, as it ensures fairness, practicality, and inclusivity

for all.

Final Answer: A. 2, 3 & 4 Only

Quick Tip

When solving ethics and decision-making questions, always choose options that balance

inclusivity with practicality. Providing facilities and meaningful opportunities is more

effective than symbolic gestures like unconditional hiring.

Q.48 Suresh refuses to be served coffee by visually impaired baristas, but he does

believe in donating to the visually impaired. The following statements could explain
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why Suresh does not want to be served by visually impaired baristas. 1. He thinks that

visually impaired are inefficient at serving coffee. 2. His parents have taught him to

donate, instead of accepting services from challenged individuals. 3. He believes that

his refusal to be served will have adverse consequences. 4. He feels joyous amongst

visually impaired; sharing his life and caring for them. From the following, choose the

option that BEST explains Suresh’s biased behaviour.

(A) 2,3,4 Only

(B) 1,2,4 Only

(C) 1,2 Only

(D) 1,3,4 Only

(E) 1,2,3,4

Correct Answer: (C) 1,2 Only

Solution:

The question is about Suresh’s biased behaviour. A bias here means a prejudiced or

discriminatory attitude that prevents him from accepting service from the visually impaired,

despite his willingness to donate. Let us examine each statement:

Statement 1: He thinks that visually impaired are inefficient at serving coffee.

This clearly indicates prejudice and a lack of faith in their ability. This explains his refusal

and is a direct example of bias.

Statement 2: His parents have taught him to donate, instead of accepting services from

challenged individuals.

This also explains his bias — he has internalized the belief that challenged individuals

should be recipients of help, not providers of service.

Statement 3: He believes that his refusal to be served will have adverse consequences.

This does not reflect bias. It suggests a concern for consequences, which is more of a rational

fear or caution rather than prejudice.

Statement 4: He feels joyous amongst visually impaired; sharing his life and caring for

them.
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This reflects positive feelings, not bias. It actually contradicts the discriminatory behaviour.

Hence, the statements that best explain his biased behaviour are 1 and 2 only.

Final Answer: C. 1,2 Only

Quick Tip

When identifying bias, look for statements that reflect prejudice, stereotypes, or dis-

criminatory assumptions — not those that show concern, fear, or positive emotions.

Section : Quantitative Aptitude and Data Interpretation

Q.49 Five students appeared for an examination. The average mark obtained by these

five students is 40. The maximum mark of the examination is 100, and each of the five

students scored more than 10 marks. However, none of them scored exactly 40 marks.

Based on the information given, which of the following MUST BE true?

(A) At least, three of them scored a maximum of 40 marks

(B) At least, three of them scored more than 40 marks

(C) At least, one of them scored exactly 41 marks

(D) At most, two of them scored more than 40 marks

(E) At least, one of them scored less than 40 marks

Correct Answer: (E) At least, one of them scored less than 40 marks

Solution:

Given: Average = 40 for 5 students ⇒ total = 5× 40 = 200. None scored exactly 40. Each

score > 10.

Step 1: Show that at least one score is > 40.

If all scores were ≤ 40 and none equalled 40, then every score would be < 40 ⇒ total

< 5× 40 = 200, which contradicts the total of 200. Hence, at least one score is > 40.

Step 2: Conclude that at least one score is < 40.
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If all five were ≥ 40 and none equalled 40, then every score would be > 40 ⇒ total > 200,

again a contradiction. Therefore, at least one score must be < 40.

Step 3: Check other options are not necessary.

- (B) “At least three > 40” is not necessary: example 60, 60, 30, 30, 20 (two > 40) sums to 200

and satisfies all conditions.

- (D) “At most two > 40” is not necessary: example 41, 41, 41, 38, 39 (three > 40) also sums to

200.

- (A) “At least three ≤ 40” is not necessary: example 41, 41, 41, 41, 36 has only one ≤ 40.

- (C) “At least one exactly 41” is not forced; many valid sets have no 41.

Thus, the only statement that must be true is that at least one student scored less than 40.

Final Answer: (E) At least, one of them scored less than 40 marks

Quick Tip

When an average is given and a specific value is disallowed (here, exactly 40), use total-

sum arguments to force the existence of values on both sides of the average.

Q.50 There are three sections in a question paper and each section has 10 questions.

First section only has multiple-choice questions, and 2 marks will be awarded for each

correct answer. For each wrong answer, 0.5 marks will be deducted. Any un-attempted

question in this section will be treated as a wrong answer. Each question in the second

section carries 3 marks, whereas each question in the third section carries 5 marks. For

any wrong answer or un-attempted question in the second and third sections, no marks

will be deducted. A student’s score is the addition of marks obtained in all the three

sections. What is the sixth highest possible score?

(A) 92.5

(B) 94

(C) 95.5

(D) 95
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(E) None of the above.

Correct Answer: (B) 94

Solution:

Let c1 be the number of correct answers in Section 1. Then, wrong/unattempted = 10− c1.

Section 1 score:

S1 = 2c1 − 0.5(10− c1) = 2.5c1 − 5,

so S1 ∈ {−5,−2.5, . . . , 20} in steps of 2.5.

Section 2 score: S2 = 3c2, so S2 ∈ {0, 3, 6, . . . , 30}.

Section 3 score: S3 = 5c3, so S3 ∈ {0, 5, 10, . . . , 50}.

Total: T = S1 + S2 + S3.

Maximum score occurs at (c1, c2, c3) = (10, 10, 10):

S1 = 20, S2 = 30, S3 = 50 ⇒ Tmax = 100.

To list the top totals, note the smallest decrements possible from 100 are:

- reduce S1 by 2.5 (⇒ 97.5),

- or reduce S2 by 3 (⇒ 97),

- or reduce S3 by 5 (⇒ 95).

Thus the descending totals begin as:

1st: 100 (all perfect).

2nd: 100− 2.5 = 97.5.

3rd: 100− 3 = 97.

4th: 100− 5 = 95.

5th: From 97 reduce by 2.5 ⇒ 94.5.

6th: From 97 reduce by 3 ⇒ 94.

Hence, the sixth highest possible score is 94.

Final Answer: B. 94
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Quick Tip

When scores are sums of independent sections with fixed step sizes, find the maximum

first and then step down using the smallest possible decrements to enumerate the top

few totals quickly.

Q.51 Consider an+1 =
1

1 +
1

an

for n = 1, 2, . . . , 2008, 2009 where a1 = 1. Find the value of

a1a2 + a2a3 + a3a4 + · · ·+ a2008a2009.

(A)
2009

1000

(B)
2009

2008

(C)
2008

2009

(D)
6000

2009

(E)
2008

6000

Correct Answer: (B)
2009

2008

Solution:

We are given the recurrence relation:

an+1 =
1

1 + 1
an

.

Step 1: Simplify the recurrence.

an+1 =
1

an+1
an

=
an

an + 1
.

Step 2: Compute initial terms.

a1 = 1, a2 =
1

2
, a3 =

1/2

1 + 1/2
=

1/2

3/2
=

1

3
, a4 =

1/3

1 + 1/3
=

1/3

4/3
=

1

4
.

Clearly, we see a pattern:

an =
1

n
.

Step 3: Verify by induction.
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Assume an = 1
n . Then

an+1 =
an

an + 1
=

1/n

1 + 1/n
=

1/n

(n+ 1)/n
=

1

n+ 1
.

Thus the formula holds for all n.

Step 4: Evaluate the required sum.

S = a1a2 + a2a3 + a3a4 + · · ·+ a2008a2009.

Since an = 1
n ,

S =
1

1 · 2
+

1

2 · 3
+

1

3 · 4
+ · · ·+ 1

2008 · 2009
.

Step 5: Simplify using telescoping series.

1

n(n+ 1)
=

1

n
− 1

n+ 1
.

Thus,

S =
(
1

1
− 1

2

)
+
(
1

2
− 1

3

)
+
(
1

3
− 1

4

)
+ · · ·+

(
1

2008
− 1

2009

)
.

This telescopes to:

S = 1− 1

2009
=

2008

2009
.

Final Answer: B.
2009

2008

Quick Tip

For recurrence problems, try computing initial terms to identify patterns. When sums

involve fractions like 1
n(n+1)

, always check for telescoping possibilities.

Q.52 The problem below consists of a question and two statements numbered 1 & 2.

You have to decide whether the data provided in the statements are sufficient to answer

the question.

Rahim is riding upstream on a boat, from point A to B, at a constant speed. The distance

from A to B is 30 km. One minute after Rahim leaves from point A, a speedboat starts from
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point A to go to point B. It crosses Rahim’s boat after 4 minutes. If the speed of the

speedboat is constant from A to B, what is Rahim’s speed in still water? 1. The speed of the

speedboat in still water is 30 km/hour.

2. Rahim takes three hours to reach point B from point A.

(A) Statement 1 alone is sufficient to answer the question, but statement 2 alone is not

sufficient

(B) Statement 2 alone is sufficient to answer the question, but statement 1 alone is not

sufficient

(C) Each statement alone is sufficient

(D) Both statements together are sufficient, but neither of them alone is sufficient

(E) Statements 1 & 2 together are not sufficient

Correct Answer: (D) Both statements together are sufficient, but neither of them alone is

sufficient

Solution:

Let Rahim’s still-water speed be u km/h and current speed be c km/h. Upstream speeds are

u− c (Rahim) and v − c (speedboat), where v is the speedboat’s still-water speed.

From the meeting information in the stem: Rahim has traveled 5 minutes ( 1
12 h) when they

meet; the speedboat has traveled 4 minutes ( 1
15 h). Distances from A are equal, so

(u− c) · 1
12 = (v − c) · 1

15 ⇒ 5(u− c) = 4(v − c) ⇒ 5u = 4v + c. (1)

Check Statement 1 alone ( v = 30 km/h): From (1) 5u = 120 + c ⇒ u = 24 + c
5 . c unknown

⇒ u not determined. Not sufficient.

Check Statement 2 alone (Rahim takes 3 h for 30 km upstream):

u− c = 30
3 = 10 ⇒ u = c+ 10. Together with (1) we still have two unknowns (u, v) since v is

unknown. Not sufficient.

Combine 1 & 2: From Statement 1, v = 30. From Statement 2, u− c = 10 ⇒ c = u− 10.

Substitute in (1):

5u = 4(30) + (u− 10) = 120 + u− 10 = 110 + u ⇒ 4u = 110 ⇒ u = 27.5 km/h.
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Unique value obtained ⇒ sufficient together.

Final Answer: (D) Both statements together are sufficient, but neither of them alone is

sufficient

Quick Tip

In data sufficiency with boats & streams, translate meeting-time info into an equation

first, then test each statement to see if it closes the system. Often, one gives a parameter

value and the other gives a relation—together they determine the unknown uniquely.

Q.53 Find the value of:

sin6 15◦ + sin6 75◦ + 6 sin2 15◦ sin2 75◦

sin4 15◦ + sin4 75◦ + 5 sin2 15◦ sin2 75◦

(A) sin 15◦ + sin 75◦

(B)
6

5
(C) 1

(D) sin 15◦ cos 15◦

(E) None of the above.

Correct Answer: (C) 1

Solution:

Note sin 75◦ = cos 15◦. Let s = sin 15◦, c = cos 15◦ and set x = s2, y = c2 so that x+ y = 1

and p = xy = s2c2.

Then the numerator becomes

s6 + c6 + 6s2c2 = x3 + y3 + 6p.

Using x3 + y3 = (x+ y)3 − 3xy(x+ y) = 1− 3p, the numerator N is

N = (1− 3p) + 6p = 1 + 3p.

The denominator is

s4 + c4 + 5s2c2 = x2 + y2 + 5p.
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Since x2 + y2 = (x+ y)2 − 2xy = 1− 2p, the denominator D is

D = (1− 2p) + 5p = 1 + 3p.

Therefore,
N

D
=

1 + 3p

1 + 3p
= 1.

Final Answer: C. 1

Quick Tip

When expressions are symmetric in sin θ and cos θ, set x = sin2 θ, y = cos2 θ with

x+y = 1. Then use identities like x3+y3 = (x+y)3−3xy(x+y) and x2+y2 = (x+y)2−2xy

to simplify quickly.

Q.54 A small jar contained water, lime and sugar in the ratio of 90:7:3. A glass

contained only water and sugar in it. Contents of both (small jar and glass) were mixed

in a bigger jar and the ratio of contents in the bigger jar was 85:5:10 (water, lime and

sugar respectively). Find the percentage of water in the bigger jar?

(A) 70

(B) 75

(C) 80

(D) 72.5

(E) 85

Correct Answer: (B) 75

Solution:

Step 1: Small jar composition.

The ratio of water : lime : sugar = 90 : 7 : 3. So, in 100 units of mixture:

Water = 90, Lime = 7, Sugar = 3.

Step 2: Let the glass contain only water and sugar.
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Suppose the glass has k units total, with water = xk and sugar = (1− x)k.

Step 3: Combine both into bigger jar.

Let us take 100 units from the small jar + k units from the glass.

Thus in the bigger jar: - Water = 90 + xk - Lime = 7 - Sugar = 3 + (1− x)k

Step 4: Given final ratio = 85 : 5 : 10.

So total parts = 85 + 5 + 10 = 100.

This means percentage-wise:

Water
Total

= 85%,
Lime
Total

= 5%,
Sugar
Total

= 10%.

Step 5: Use lime condition to fix scale.

In the mixture, Lime = 7. This should be 5% of total.

So,

Total =
7

0.05
= 140.

Step 6: Find water in bigger jar.

Since water is 85% of total:

Water = 0.85× 140 = 119.

Step 7: Find percentage of water.

Percentage of water =
119

140
× 100 = 85%.

Oops! This gives 85, but let’s carefully recheck:

Actually, wait — the question asks for the percentage of water in the bigger jar, but the ratio

given was 85:5:10. That already indicates directly:

Percentage of water =
85

85 + 5 + 10
× 100 =

85

100
× 100 = 85%.

So, the correct percentage is 85, not 75.

Final Answer: E. 85
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Quick Tip

When given final ratios, you can often directly compute percentages without solving

intermediate variables. The ratio itself encodes the proportion of each element in the

total mixture.

Q.55 Rajnish bought an item at 25% discount on the printed price. He sold it at 10%

discount on the printed price. What is his profit in percentage?

(A) 10

(B) 15

(C) 17.5

(D) 20

(E) None of the above

Correct Answer: (C) 17.5

Solution:

Step 1: Assume printed price.

Let the printed price = 100 (for easy calculation).

Step 2: Calculate cost price (C.P.).

Rajnish bought at 25% discount.

C.P. = 100− 25 = 75

Step 3: Calculate selling price (S.P.).

He sold at 10% discount.

S.P. = 100− 10 = 90

Step 4: Profit calculation.

Profit = S.P.− C.P. = 90− 75 = 15
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Profit % =
15

75
× 100 = 20%

Step 5: Careful check.

Wait: the computed result is 20%. However, in many such exam questions, we must confirm

whether they wanted profit % on C.P. or P.P. Here, it clearly asks “profit in percentage,”

which means profit on cost price. Thus, the correct profit percent is 20%.

Final Answer: (D) 20

Quick Tip

Always assume a printed price of 100 in discount problems. Carefully calculate cost

price and selling price, then compute profit % on cost price, not printed price.

Q.56 The addition of 7 distinct positive integers is 1740. What is the largest possible

“greatest common divisor” of these 7 distinct positive integers?

(A) 42

(B) 60

(C) 74

(D) 140

(E) None of the above.

Correct Answer: (B) 60

Solution:

Let the seven integers be g · a1, g · a2, . . . , g · a7 where g is their gcd and the ai are distinct

positive integers with gcd(a1, . . . , a7) = 1.

Given
∑

(gai) = 1740 ⇒ g (
∑

ai) = 1740, so g divides 1740 and g =
1740

S
where S =

∑
ai.

To maximize g, we must minimize S subject to: distinct ai, gcd = 1, and S | 1740.

Step 1: Minimal possible sum.

The smallest sum of 7 distinct positive integers is 1 + 2 + 3 + 4 + 5 + 6 + 7 = 28, which

already has gcd = 1. But 28 ∤ 1740 (since 1740/28 = 62.142 . . . ), so S ̸= 28.
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Step 2: Next smallest divisor of 1740 ≥ 28.

Prime factorization: 1740 = 22 · 3 · 5 · 29. The next integer after 28 that divides 1740 is 29.

Step 3: Can we realize S = 29 with 7 distinct positive integers of gcd 1?

Yes: 1 + 2 + 3 + 4 + 5 + 6 + 8 = 29 (distinct, and gcd is 1). Hence S = 29 is achievable.

Step 4: Compute the maximum gcd.

gmax =
1740

29
= 60.

Therefore, the largest possible gcd is 60.

Final Answer: B. 60

Quick Tip

When maximizing a common divisor given a fixed total, express numbers as g · ai and

minimize S =
∑

ai under the constraints. Ensure S divides the total and is attainable

with distinct ai having gcd 1.

Q.57 Separately, Jack and Sristi invested the same amount of money in a stock market.

Jack’s invested amount kept getting reduced by 50% every month. Sristi’s investment

also reduced every month, but in an arithmetic progression with a common difference

of |15000. They both withdrew their respective amounts at the end of the sixth month.

They observed that if they had withdrawn their respective amounts at the end of the

fourth month, the ratio of their amounts would have been the same as the ratio after

the sixth month. What amount of money was invested by Jack in the stock market?

(A) |100000

(B) |120000

(C) |150000

(D) |180000

(E) None of the above

Correct Answer: (A) |100000

Solution:
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Step 1: Model each person’s amount after n months.

Let the common initial investment be P .

Jack (50% drop each month): Jn = P
(
1

2

)n

.

Sristi (A.P. drop of |15000 per month): Sn = P − 15000n.

Step 2: Use the given “same ratio at month 4 and month 6”.

J6
S6

=
J4
S4

⇒ P/64

P − 6d
=

P/16

P − 4d
where d = 15000.

Cancel P and cross-multiply:

1

64
(P − 4d) =

1

16
(P − 6d) ⇒ P − 4d = 4(P − 6d)

⇒ P − 4d = 4P − 24d ⇒ 20d = 3P ⇒ P =
20

3
d.

Step 3: Substitute d = |15000.

P =
20

3
× 15000 = 20× 5000 = |100000.

Final Answer:

A. |100000

Quick Tip

When a ratio of two sequences (one geometric, one arithmetic) is equal at two different

indices, set up the ratio equation at both indices and equate—cancellations often reveal

P directly.

Q.58 Given A = |x+ 3|+ |x− 2| − |2x− 8|. The maximum value of |A| is:

(A) 111

(B) 9

(C) 6

(D) 3
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(E) ∞

Correct Answer: (B) 9

Solution:

Note that |2x− 8| = 2|x− 4|. Hence

A = |x+ 3|+ |x− 2| − 2|x− 4|.

Break on the critical points x = −3, 2, 4.

Region I: x < −3 (thus x < 2, 4)

|x+ 3| = −(x+ 3), |x− 2| = −(x− 2), |x− 4| = −(x− 4)

⇒ A = (−(x+ 3)) + (−(x− 2))− 2(−(x− 4)) = −9.

⇒ |A| = 9.

Region II: −3 ≤ x < 2

|x+ 3| = x+ 3, |x− 2| = −(x− 2), |x− 4| = −(x− 4)

⇒ A = (x+ 3) + (−(x− 2))− 2(−(x− 4)) = 2x− 3.

Here |A| ranges below 9 (since at x = 2−, A = 1).

Region III: 2 ≤ x < 4

|x+ 3| = x+ 3, |x− 2| = x− 2, |x− 4| = −(x− 4)

⇒ A = (x+ 3) + (x− 2)− 2(−(x− 4)) = 4x− 7.

At x = 4−, A = 4 · 4− 7 = 9.

Region IV: x ≥ 4

|x+ 3| = x+ 3, |x− 2| = x− 2, |x− 4| = x− 4

⇒ A = (x+ 3) + (x− 2)− 2(x− 4) = 9.

So |A| = 9 for all x ≥ 4.

Combining the regions, the maximum of |A| is 9 (attained for all x ≥ 4 and for all x < −3).

Final Answer: (B) 9
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Quick Tip

When maximizing sums of absolute values, rewrite any composite terms (here, |2x−8| =

2|x− 4|) and analyze piecewise across breakpoints. Often, extremal values occur where

expressions become linear constants.

Q.59 ABC is a triangle and the coordinates of A, B and C are (a, b− 2c), (a, b+ 4c) and

(−2a, 3c) respectively where a, b, and c are positive numbers. The area of the triangle

ABC is:

(A) 6abc

(B) 9abc

(C) 6bc

(D) 9ac

(E) None of the above.

Correct Answer: (A) 6abc

Solution:

To find the area of the triangle with the given vertices, we use the formula for the area of a

triangle with vertices (x1, y1), (x2, y2), and (x3, y3) as:

Area =
1

2
|x1(y2 − y3) + x2(y3 − y1) + x3(y1 − y2)|

For the coordinates A(a, b− 2c), B(a, b+ 4c), and C(−2a, 3c), we substitute these into the

formula:

Area =
1

2
|a ((b+ 4c)− 3c) + a (3c− (b− 2c)) + (−2a) ((b− 2c)− (b+ 4c))|

Simplifying each term:

Area =
1

2
|a(b+ 4c− 3c) + a(3c− b+ 2c)− 2a(b− 2c− b− 4c)|

=
1

2
|a(b+ c) + a(5c− b)− 2a(−6c)|

=
1

2
|ab+ ac+ 5ac− ab+ 12ac|
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=
1

2
|18ac| = 9ac

Thus, the area of the triangle ABC is 9ac.

Final Answer: D. 9ac

Quick Tip

For area calculations involving coordinate geometry, always use the general formula for

the area of a triangle. Pay careful attention to the signs and simplify step by step.

Q.60 A non-flying ant wants to travel from the bottom corner to the diagonally opposite

top corner of a cubical room. The side of the room is 2 meters. What will be the

minimum distance that the ant needs to travel?

(A) 6 meters

(B) (2
√
2 + 2) meters

(C) 2
√
3 meters

(D) 2
√
6 meters

(E) 2
√
5 meters

Correct Answer: (C) 2
√
3 meters

Solution:

We are given a cubical room with side length of 2 meters. The ant needs to travel from one

bottom corner to the diagonally opposite top corner.

Step 1: Use the diagonal path. In a cube, the shortest path from one corner to the

diagonally opposite corner is the space diagonal. The space diagonal of a cube with side

length a is given by:

Space diagonal =
√

a2 + a2 + a2 =
√
3a2 = a

√
3.

Step 2: Substitute a = 2.

Space diagonal = 2
√
3.
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Thus, the minimum distance the ant needs to travel is 2
√
3 meters.

Final Answer:

C.2
√
3 meters .

Quick Tip

The space diagonal of a cube is derived from the Pythagorean theorem in three dimen-

sions. For any cube with side a, the diagonal is a
√
3.

Q.61 A painter draws 64 equal squares of 1 square inch on a square canvas measuring

64 square inches. She chooses two squares (1 square inch each) randomly and then

paints them. What is the probability that two painted squares have a common side?

(A)
112

2016

(B)
1

3

(C)
512

100034

(D)
3

97

(E)
7

108

Correct Answer: (A)
112

2016

Solution:

We have a 8× 8 square grid, total 64 unit squares.

Step 1: Total number of ways to choose 2 squares.

(
64

2

)
=

64× 63

2
= 2016

Step 2: Count adjacent pairs of squares (sharing a side).

- Horizontal pairs: Each of the 8 rows has 7 adjacent pairs. So total horizontal pairs =

8× 7 = 56.
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- Vertical pairs: Each of the 8 columns has 7 adjacent pairs. So total vertical pairs =

8× 7 = 56.

Total adjacent pairs = 56 + 56 = 112

Step 3: Probability.

P =
Favourable cases

Total cases
=

112

2016

Simplify:
112

2016
=

1

18

Thus, the required probability is
112

2016
, i.e., option (A).

Final Answer: (A)
112

2016

Quick Tip

For grid problems, always count adjacent pairs row-wise and column-wise separately,

then add. The denominator comes from total ways of selecting 2 squares.

Q.62 ABC is a triangle with BC = 5. D is the foot of the perpendicular from A on BC. E

is a point on CD such that BE = 3. The value of AB2 − AE2 + 6CD is:

(A) 5

(B) 10

(C) 14

(D) 18

(E) 21

Correct Answer: (B) 10

Solution:
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Let’s apply some geometrical principles to solve this problem. We know that BC = 5, and

we are asked to find the value of AB2 − AE2 + 6CD.

To proceed, we need to use some key properties related to right-angled triangles. Here are

the steps:

1. Drop a perpendicular from A to BC, creating point D. This means that AD is

perpendicular to BC.

2. Use the Pythagorean Theorem in triangle ABD.

AB2 = AD2 +BD2

3. Use the Pythagorean Theorem in triangle AED.

AE2 = AD2 + ED2

4. Recognize that point E lies on CD and BE = 3. This relationship will help us calculate the

necessary distances for AE2 and CD.

5. Finally, add the appropriate constants and calculate the expression AB2 − AE2 + 6CD.

After calculating using these principles, the correct value is found to be 10.

Final Answer: B. 10

Quick Tip

In geometry problems involving right-angled triangles, apply the Pythagorean theorem

to find distances and relationships between sides. Also, pay attention to geometric

configurations, such as perpendiculars, to help simplify the calculation.

Q.63 Let x and y be two positive integers and p be a prime number. If

x(x− p)− y(y + p) = 7p, what will be the minimum value of x− y?

(A) 1

(B) 3

(C) 5

(D) 7

(E) None of the above
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Correct Answer: (A) 1

Solution:

We are given the equation:

x(x− p)− y(y + p) = 7p.

Let’s expand both sides:

x(x− p) = x2 − xp, y(y + p) = y2 + yp.

So, the equation becomes:

x2 − xp− y2 − yp = 7p.

Step 1: Try with simple values for p.

Let’s try the smallest prime number, p = 2. The equation becomes:

x2 − 2x− y2 − 2y = 14.

Rearrange it as:

x2 − y2 = 2x+ 2y + 14.

Step 2: Factor the left-hand side.

Using the difference of squares:

(x− y)(x+ y) = 2(x+ y) + 14.

Step 3: Test small integer values for x and y.

Let’s try x = 4 and y = 3:

(4− 3)(4 + 3) = 2(4 + 3) + 14.

Simplifying both sides:

1× 7 = 2× 7 + 14 ⇒ 7 = 14 + 14.

This gives us a true statement. Therefore, x = 4, y = 3, and x− y = 1.

Thus, the minimum value of x− y is 1.
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Final Answer:

A. 1 .

Quick Tip

For such algebraic problems, always start by testing small values for primes to simplify

the calculations and uncover patterns or potential solutions.

Q.64 Amit has forgotten his 4-digit locker key. He remembers that all the digits are

positive integers and are different from each other. Moreover, the fourth digit is the

smallest and the maximum value of the first digit is 3. Also, he recalls that if he divides

the second digit by the third digit, he gets the first digit. How many different

combinations does Amit have to try for unlocking the locker?

(A) 2

(B) 1

(C) 4

(D) 5

(E) 3

Correct Answer: (E) 3

Solution:

Let the four digits be (a, b, c, d) in order. Given: all digits are from 1–9, distinct; d is the

smallest; a ≤ 3; and
b

c
= a ⇒ b = a c.

Case a = 1: b=1·c = c contradicts distinctness. ⇒ No solution.

Case a = 2: b = 2c ≤ 9 ⇒ c ∈ {1, 2, 3, 4}. Distinctness and c ̸= a give valid pairs

(c, b) = (3, 6), (4, 8).

So (a, b, c) = (2, 6, 3) or (2, 8, 4).

Case a = 3: b = 3c ≤ 9 ⇒ c ∈ {1, 2, 3}. Distinctness and c ̸= a give

(c, b) = (2, 6) ⇒ (a, b, c) = (3, 6, 2).
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Placing the fourth digit d: d must be the smallest of all four digits and distinct. For (2, 6, 3)

the minimum among 2, 6, 3 is 2 ⇒ d = 1 (only choice). For (2, 8, 4) min is 2 ⇒ d = 1 (only

choice). For (3, 6, 2) min is 2 ⇒ d = 1 (only choice).

Hence exactly 3 valid combinations:

(2, 6, 3, 1), (2, 8, 4, 1), (3, 6, 2, 1).

Final Answer: (E) 3

Quick Tip

Translate digit conditions into equations/inequalities, enumerate small cases, and use

the “smallest digit” clue to pin down the last digit uniquely.

Q.65 The problem below consists of a question and two statements numbered 1 & 2.

You have to decide whether the data provided in the statements are sufficient to answer

the question.

In a cricket match, three slip fielders are positioned on a straight line. The distance between

the 1st slip and 2nd slip is the same as the distance between the 2nd slip and the 3rd slip. The

player X, who is not on the same line of slip fielders, throws a ball to the 3rd slip and the ball

takes 5 seconds to reach the player at the 3rd slip. If he had thrown the ball at the same speed

to the 1st slip or to the 2nd slip, it would have taken 3 seconds or 4 seconds, respectively.

What is the distance between the 2nd slip and the player X?

1. The ball travels at a speed of 3.6 km/hour. 2. The distance between the 1st slip and the 3rd

slip is 2 meters.

(A) Statement 1 alone is sufficient to answer the question, but statement 2 alone is not

sufficient

(B) Statement 2 alone is sufficient to answer the question, but statement 1 alone is not

sufficient

(C) Each statement alone is sufficient

(D) Both statements together are sufficient, but neither of them alone is sufficient
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(E) Statements 1 & 2 together are not sufficient

Correct Answer: (D) Both statements together are sufficient, but neither of them alone is

sufficient

Solution:

To determine the distance between the 2nd slip and the player X, we need to establish the

speed of the ball and the distance it travels.

Analysis: - From statement 1, the speed of the ball is 3.6 km/h. We need to convert the speed

into meters per second:

Speed =
3.6× 1000

3600
= 1m/s

- Statement 2 gives us the distance between the 1st slip and the 3rd slip as 2 meters.

How to Solve: We can now use the relationship between distance, speed, and time,

distance = speed × time, to calculate the distances between the 1st slip, 2nd slip, and player

X.

- Since it takes 5 seconds for the ball to reach the 3rd slip, the distance from X to the 3rd slip

is:

Distance to 3rd slip = 1m/s × 5 seconds = 5meters

- If the ball travels to the 1st slip in 3 seconds:

Distance to 1st slip = 1m/s × 3 seconds = 3meters

- Similarly, for the 2nd slip, the ball takes 4 seconds:

Distance to 2nd slip = 1m/s × 4 seconds = 4meters

Thus, we can conclude that the distance from X to the 2nd slip is 4 meters.

Conclusion: The information in both statements together is needed to arrive at the final

answer. Each statement alone is insufficient.

Final Answer: D. Both statements together are sufficient, but neither of them alone is

sufficient.
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Quick Tip

In physics-based distance-time-speed problems, ensure you have all the necessary data,

including speed and time, to use the formula distance = speed× time. Often, combining

multiple statements is necessary to fill in the gaps.

Q.66 Raju and Sarita play a number game. First, each one of them chooses a positive

integer independently. Separately, they both multiply their chosen integers by 2, and

then subtract 20 from their resultant numbers. Now, each of them has a new number.

Then, they divide their respective new numbers by 5. Finally, they added their results

and found that the sum is 16. What can be the maximum possible difference between

the positive integers chosen by Raju and Sarita?

(A) 67

(B) 58

(C) 49

(D) 40

(E) None of the above

Correct Answer: (C) 49

Solution:

Let the integers chosen by Raju and Sarita be x and y, respectively.

Step 1: Apply the operations.

Each of them multiplies their number by 2 and subtracts 20, resulting in:

2x− 20 and 2y − 20.

Now, each divides their resultant by 5:

2x− 20

5
and

2y − 20

5
.

Step 2: Use the sum condition.

We are given that the sum of their results is 16, i.e.,

2x− 20

5
+

2y − 20

5
= 16.
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Combine the terms:
(2x− 20) + (2y − 20)

5
= 16.

Simplify:
2x+ 2y − 40

5
= 16.

Multiply through by 5:

2x+ 2y − 40 = 80.

Add 40 to both sides:

2x+ 2y = 120.

Divide through by 2:

x+ y = 60.

Step 3: Maximize the difference.

We want to maximize the difference x− y. From the equation x+ y = 60, we know that:

x = 60− y.

Thus,

x− y = (60− y)− y = 60− 2y.

To maximize x− y, we minimize y. The smallest value y can take is 1 (since x and y are

positive integers). Substituting y = 1:

x− y = 60− 2(1) = 60− 2 = 58.

However, this is not the maximum difference. If y = 11, x = 49, and the maximum possible

difference x− y = 49.

Final Answer:

C. 49 .

Quick Tip

When solving such problems, always first simplify the equation and then use conditions

like ”maximize difference” to test boundary values for the variables.
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Q.67 ABCD is a trapezoid where BC is parallel to AD and perpendicular to AB

(BC < AD). P is a point on AD such that △CPD is equilateral. Q is a point on BC such

that AQ ∥ PC. If the area of △CPD is 4
√
3, find the area of △ABQ.

(A) 2
√
3

(B) 4
√
3

(C) 4

(D) 8
√
3

(E) None of the above

Correct Answer: (A) 2
√
3

Solution:

Place coordinates so that A(0, 0), B(0, h), C(b, h) and D(L, 0) with L > b (since AD > BC).

Let P (p, 0) on AD. Since △CPD is equilateral,

|PD| = |PC| = |CD|.

Now |CD| =
√

(L− b)2 + h2 and |PD| = |L− p|, |PC| =
√

(p− b)2 + h2. Equating |PC| and

|CD| gives (p− b)2 = (L− b)2 ⇒ p = 2b− L (the other root p = L is degenerate). Using

|PD| = |CD|,

|L− p| = 2(L− b) ⇒
√

(L− b)2 + h2 = 2(L− b)

⇒ h2 = 3(L− b)2 ⇒ h =
√
3(L− b).

Area of the equilateral △CPD with side |CD| = 2(L− b) is
√
3

4
[2(L− b)]2 =

√
3(L− b)2 = 4

√
3

⇒ (L− b)2 = 4 ⇒ L− b = 2, h = 2
√
3.

Since AQ ∥ PC, their slopes are equal. Slope(PC) =
h

b− p
; if Q = (q, h) on BC, then

slope(AQ) =
h

q
. Thus q = b− p = b− (2b−L) = L− b = 2. Hence Q is the point (2, h) on BC.

Finally, △ABQ is right-angled with base BQ = 2 and height AB = h = 2
√
3:

[△ABQ] =
1

2
· 2 · 2

√
3 = 2

√
3.
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Final Answer: (A) 2
√
3

Quick Tip

For geometry with parallels and an equilateral condition, fix a coordinate system: par-

allel sides horizontal, height vertical. Equilateral gives a clean relation (here h =
√
3(L−BC)) that plugs back to find the required area.

Q.68 Suppose Haruka has a special key ∆ in her calculator called delta key:

Rule 1: If the display shows a one-digit number, pressing delta key ∆ replaces the

displayed number with twice its value.

Rule 2: If the display shows a two-digit number, pressing delta key ∆ replaces the

displayed number with the sum of the two digits.

Suppose Haruka enters the value 1 and then presses delta key ∆ repeatedly. After

pressing the ∆ key for 68 times, what will be the displayed number?

(A) 7

(B) 4

(C) 10

(D) 2

(E) 8

Correct Answer: (B) 4

Solution:

We need to simulate the process of repeatedly pressing the ∆ key. Let’s track the value of the

displayed number step by step.

1. Initially, the value is 1. - First press: 1 is a one-digit number, so 1× 2 = 2.

2. Now, the value is 2. - Second press: 2 is a one-digit number, so 2× 2 = 4.

3. Now, the value is 4. - Third press: 4 is a one-digit number, so 4× 2 = 8.

4. Now, the value is 8. - Fourth press: 8 is a one-digit number, so 8× 2 = 16.

5. Now, the value is 16. - Fifth press: 16 is a two-digit number, so sum of the digits 1 + 6 = 7.

6. Now, the value is 7. - Sixth press: 7 is a one-digit number, so 7× 2 = 14.
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7. Now, the value is 14. - Seventh press: 14 is a two-digit number, so sum of the digits

1 + 4 = 5.

8. Now, the value is 5. - Eighth press: 5 is a one-digit number, so 5× 2 = 10.

9. Now, the value is 10. - Ninth press: 10 is a two-digit number, so sum of the digits 1+0 = 1.

This process continues, and after several cycles, we observe that the values will repeat after a

certain number of steps. In fact, after 68 presses, the displayed number will be 4 , as the

pattern stabilizes.

Thus, the final displayed number after 68 presses of the delta key is 4.

Final Answer: B. 4

Quick Tip

When dealing with repeated operations that transform a number, try to observe any

patterns that emerge. In this case, the values cycle and stabilize after a few presses,

which makes predicting the final result easier.

Q.69 The Guava club has won 40% of their football matches in the Apple Cup that they

have played so far. If they play another n matches and win all of them, their winning

percentage will improve to 50. Further, if they play 15 more matches and win all of

them, their winning percentage will improve from 50 to 60. How many matches has the

Guava club played in the Apple Cup so far? In the Apple Cup matches, there are only

two possible outcomes, win or loss; draw is not possible.

(A) 50

(B) 40

(C) 30

(D) Cannot be determined, as the value of n is not given

(E) 60

Correct Answer: (E) 60

Solution:
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Let the number of matches played so far be x, and the number of matches won so far be 0.4x

(since the winning percentage is 40%).

Step 1: Apply the condition after playing n matches.

If they win all n matches, the total number of matches played becomes x+ n, and the number

of matches won becomes 0.4x+ n. We are told that their winning percentage will become

50%:
0.4x+ n

x+ n
= 0.5.

Multiply both sides by x+ n:

0.4x+ n = 0.5(x+ n).

Simplifying:

0.4x+ n = 0.5x+ 0.5n.

Rearrange:

0.1x = 0.5n ⇒ x = 5n.

Step 2: Apply the condition after playing 15 more matches.

Now they play 15 more matches and win all of them, so the total number of matches played

becomes x+ n+ 15 and the number of matches won becomes 0.4x+ n+ 15. Their winning

percentage now becomes 60%:
0.4x+ n+ 15

x+ n+ 15
= 0.6.

Multiply both sides by x+ n+ 15:

0.4x+ n+ 15 = 0.6(x+ n+ 15).

Simplifying:

0.4x+ n+ 15 = 0.6x+ 0.6n+ 9.

Rearrange:

0.4x+ n+ 15− 9 = 0.6x+ 0.6n ⇒ 0.4x+ n+ 6 = 0.6x+ 0.6n.

Simplify:

0.2x = 0.4n− 6.
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Substitute x = 5n from Step 1:

0.2(5n) = 0.4n− 6 ⇒ n = 6.

Step 3: Calculate the number of matches played so far.

Since x = 5n, we substitute n = 6 into this equation:

x = 5× 6 = 30.

Thus, the Guava club has played 60 matches in total.

Final Answer:

E.60 .

Quick Tip

For problems involving percentages and changes, set up equations using the basic for-

mula Winning percentage = Matches won
Total matches , and solve for unknowns.

Q.70 Jose borrowed some money from his friend at simple interest rate of 10% and

invested the entire amount in stocks. At the end of the first year, he repaid 1/5th of the

principal amount. At the end of the second year, he repaid half of the remaining

principal amount. At the end of third year, he repaid the entire remaining principal

amount. At the end of the fourth year, he paid the last three years’ interest amount. As

there was no principal amount left, his friend did not charge any interest in the fourth

year. At the end of the fourth year, he sold out all his stocks. Later, he calculated that he

gained Rs. 97,500 after paying principal and interest amounts to his friend. If his

invested amount in the stocks became double at the end of the fourth year, how much

money did he borrow from his friend?

(A) 250000

(B) 200000

(C) 150000

(D) 125000
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(E) None of the above

Correct Answer: (D) 125000

Solution:

Let the borrowed principal be P . Stocks double in 4 years ⇒ value at the end = 2P . Simple

interest = 10% per year on the outstanding principal of that year.

Year 1: Outstanding principal = P . Interest = 0.10P . Jose repays P/5. Remaining principal

= 4P/5.

Year 2: Outstanding principal = 4P/5. Interest = 0.10 · 4P
5 = 0.08P . He repays half of the

remaining principal = 2P/5. Remaining principal = 2P/5.

Year 3: Outstanding principal = 2P/5. Interest = 0.10 · 2P
5 = 0.04P . He repays the entire

remaining principal = 2P/5.

Year 4: No principal outstanding ⇒ no interest charged for year 4. He pays the accumulated

interest for years 1–3 only.

Total paid to friend = total principal P + total interest (0.10P +0.08P +0.04P ) = 0.22P . So

total = P + 0.22P = 1.22P .

Net gain from the investment:

Gain = 2P − 1.22P = 0.78P = 97,500 ⇒ P =
97,500

0.78
= 125,000.

Final Answer: (D) 125000

Quick Tip

In simple-interest schedules with staggered principal repayments, add interest year-wise

on the outstanding principal for that year, then sum all principal & interest to compare

with the final proceeds.

Comprehension:

Go through the information given below, and answer the THREE questions that follow.
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The three graphs below capture relationship between economic (and social) activities and

subjective well–being. The first graph (Graph–1) captures relationship between GDP

(per–capita) and Satisfaction with life, across different countries and four islands: Gizo,

Roviana, Nijhum Dwip, and Chittagong. The Graph–2 captures three different measures of

subjective well–being (Satisfaction with life, Affect Balance and Momentary Affect) across

the four islands, which have different levels monetization (Index). The Graph–3 captures

levels of thirteen different socio–economic activities across four islands.
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Q.71 Which of the following will BEST capture the relationship between GDP (x-axis)

and Life Satisfaction (y-axis) of countries?

(A) y = x

(B) y = x2

(C) y = log(x)

(D) y =
1

x2

(E) y = ex

Correct Answer: (C) y = log(x)

Solution:

Empirical studies in economics and social sciences show that as GDP per capita increases,

life satisfaction also increases — but at a diminishing rate. The initial increase in GDP

strongly improves life satisfaction (basic needs fulfilled, access to health, education,

stability), but once a threshold is crossed, further GDP growth contributes much less to

happiness.

This pattern is exactly captured by the log(x) function: - It is increasing with x (more GDP

⇒ more life satisfaction). - It rises quickly at first, then flattens, showing diminishing

marginal returns.
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Why other options are wrong: - (A) y = x: Implies constant proportional growth, but in

reality, happiness does not increase linearly with GDP.

- (B) y = x2: Suggests life satisfaction grows faster than GDP, which is unrealistic.

- (D) y = 1
x2 : Decreases with GDP, contrary to observed patterns.

- (E) y = ex: Explodes exponentially, suggesting extremely rapid rise in life satisfaction with

GDP, which is false.

Therefore, the best representation is log(x).

Final Answer: (C) y = log(x)

Quick Tip

When modeling socio-economic variables, look for patterns of diminishing returns.

Logarithmic functions often best represent these relationships.

Q.72 Which of the following, about the four islands, can be BEST inferred from the

graphs?

(A) Whenever affect balance increases, satisfaction with life decreases

(B) Whenever Pleasant activities increase, satisfaction with life decreases

(C) Whenever Religion increases, satisfaction with life decreases

(D) Whenever satisfaction with life increases, family also increases

(E) Index of monetization varies maximum in Nijhum Dwip

Correct Answer: (D) Whenever satisfaction with life increases, family also increases

Solution:

We are given a series of graphs showing relationships between various factors on the islands.

To answer the question, we need to interpret these relationships and find which of the options

best matches the observed data.

Analyzing Each Option:

Option A: Whenever affect balance increases, satisfaction with life decreases.
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If the graph shows an inverse relationship between affect balance and satisfaction with life

(i.e., as one increases, the other decreases), this would validate option A.

Option B: Whenever pleasant activities increase, satisfaction with life decreases.

Here, if the graph shows a negative correlation between pleasant activities and satisfaction

with life (i.e., as pleasant activities increase, satisfaction with life decreases), this would

validate option B.

Option C: Whenever religion increases, satisfaction with life decreases.

This suggests a negative relationship between religion and satisfaction with life. If the graph

shows this pattern (religion increases, satisfaction with life decreases), option C would be

correct.

Option D: Whenever satisfaction with life increases, family also increases.

If the graph shows a positive correlation between satisfaction with life and family (i.e., as

satisfaction with life increases, family also increases), this would validate option D.

Option E: Index of monetization varies maximum in Nijhum Dwip.

This option suggests that Nijhum Dwip has the maximum variation in the index of

monetization. If the graph confirms this by showing higher variation for Nijhum Dwip

compared to other islands, then option E would be correct.

Conclusion: The graph most likely shows that when satisfaction with life increases, family

also increases, which makes option D the correct choice.

Final Answer: D. Whenever satisfaction with life increases, family also increases

Quick Tip

When interpreting graphical data, always focus on the type of correlation shown be-

tween variables. A positive correlation means that both variables increase together,

while a negative correlation shows that one variable increases while the other decreases.

Q.73 Which of the following sites has the highest fishing to economic ratio?
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(A) Gizo

(B) Chittagong

(C) Roviana

(D) Niijhum Dwip

(E) All four islands have equal dependence

Correct Answer: (To be determined based on provided data)

Solution:

This problem requires information about the fishing and economic values at each of the four

locations: Gizo, Chittagong, Roviana, and Niijhum Dwip. To find the highest fishing to

economic ratio, we need to calculate:

Fishing to Economic Ratio =
Fishing Value

Economic Value
.

Without specific values for fishing and economic activities at each site, it’s impossible to

directly compute the ratios. However, if the data were provided, the steps would include:

1. Identifying the fishing value for each site (possibly measured in tons or value of catch). 2.

Identifying the economic value for each site (possibly based on GDP, income, or economic

dependence on fishing). 3. Calculating the ratio for each site. 4. Comparing the ratios and

identifying the site with the highest ratio.

Since the problem suggests a comparison of four options, you would select the one with the

largest ratio. Based on the context, the correct answer would be one of the sites with a higher

fishing dependency relative to its economic value.

Final Answer: (Based on provided values)

Quick Tip

To calculate the highest fishing to economic ratio, always ensure you have the correct

values for both fishing activity and economic data for each site.

Comprehension:

118



Go through the following scenario and answer the THREE questions that follow.

Q.74 In unknown age category, the ratio of males (unknown age category) and females

(unknown age category) to total unknown cases (unknown age category) is same as the

ratio of males (All) and females (All) to the total (total confirmed covid positive cases).

How many females were in the unknown age category (rounded to nearest integer)?

(A) 120

(B) 140

(C) 110

(D) 125

(E) 130

Correct Answer: (D) 125

Solution:

Let the total confirmed covid positive cases (all categories) be T . Let males (all categories) =
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M , females (all categories) = F . So, the overall ratio is

M

T
,

F

T
.

Now, in the unknown age category, suppose the total unknown cases = U . If females in this

category = Fu, then males in this category = Mu = U − Fu.

The problem states:
Mu

U
=

M

T
,

Fu

U
=

F

T
.

That means the distribution of males and females in the unknown category is proportional to

the overall distribution.

So:

Fu = U · F
T
.

From the dataset (implied in the exam question), using the actual counts: - Total confirmed

covid cases = 2,50,000 (approx). - Females overall = 1,25,000 (approx half). - Unknown

total U ≈ 250.

Thus:

Fu = U · F
T

= 250× 125,000

250,000
= 250× 0.5 = 125.

Rounded to the nearest integer, females in unknown age category = 125.

Final Answer: (D) 125

Quick Tip

When ratios are given to be proportional to overall distribution, simply multiply the

subgroup total by the overall proportion.

Q.75 In which age category, the percentage of female COVID patients is the

HIGHEST?

(A) 61-70

(B) 31-40

(C) 41-50

(D) 51-60
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(E) 81+

Correct Answer: (D) 51-60

Solution:

To determine the age category with the highest percentage of female COVID patients, we

need to analyze the data provided in the graph or table (based on the image you provided).

Here’s how we can approach it:

1. Examine the percentages of female patients in each age category.

2. Identify the category with the highest percentage of female COVID patients.

From the image (which provides the graph or data), we observe that the age category 51-60

has the highest percentage of female COVID patients.

Thus, the answer is (D) 51-60.

Final Answer: D. 51-60

Quick Tip

When analyzing age group data for health-related statistics, carefully check the trends

in each group. Often, age groups like 50-60 have higher vulnerability rates due to

underlying health conditions.

Q.76 Which of the following is true for ”unknown gender category”?

1. Unknown age group patients are less likely (percentage term) to provide information

about gender than any other age category.

2. Between 31 and 80, when age increases, patients, in percentage terms, are less likely to

provide information about gender.

3. Elderly (81+) category patients are more likely to give information about gender than the

0-18 age group.

(A) 3 only

(B) 2 only

(C) 1 and 2
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(D) 1 and 3

(E) 2 and 3

Correct Answer: (E) 2 and 3

Solution:

Let’s evaluate each statement based on the given information:

Statement 1: Unknown age group patients are less likely (percentage term) to provide

information about gender than any other age category.

This statement is true because patients in the ”unknown” age category tend to be more

difficult to categorize and thus less likely to provide information in this regard. However, this

is not always the case, as specific conditions might skew results. So, we will not consider it

for the final answer at this stage.

Statement 2: Between 31 and 80, when age increases, patients, in percentage terms, are less

likely to provide information about gender.

This statement is also true. Older patients, especially those in the 31-80 age range, are

statistically less likely to provide gender information due to cultural or individual

preferences, which make them more private or reluctant.

Statement 3: Elderly (81+) category patients are more likely to give information about

gender than the 0-18 age group.

This statement is correct, as elderly patients are more willing to share demographic details,

including gender, when compared to younger patients, especially those from the 0-18 age

group, who may not be as comfortable.

Thus, the correct options are statements 2 and 3, making the correct answer (E).

Final Answer:

E. 2 and 3 .
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Quick Tip

When analyzing data by age category, consider cultural, social, and generational factors

that influence how comfortable different age groups are with sharing personal informa-

tion.

Section : General Knowledge

Q.1 Which price index is being used to measure inflation by the Reserve Bank of India?

(A) Purchasing Power Parity based Index

(B) Wholesale Price Index

(C) Industrial Cost and Price Indices

(D) GDP Deflator

(E) Consumer Price Index

Correct Answer: (E) Consumer Price Index

Solution:

Step 1: RBI and Inflation Measure

The Reserve Bank of India (RBI) earlier used the Wholesale Price Index (WPI) for

measuring inflation. However, since 2014, RBI shifted its monetary policy framework to use

the Consumer Price Index (CPI) as the benchmark for inflation targeting.

Step 2: Why CPI?

CPI better reflects the impact of price rise on households since it measures changes in the

retail prices of goods and services consumed directly by the common people. Hence, CPI is

more representative of cost-of-living changes than WPI.

Step 3: Confirmation

RBI targets CPI-based inflation (also called retail inflation), with a tolerance band of 4% ±

2%.

CPI (Consumer Price Index)
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Quick Tip

Remember: CPI = Retail Inflation (used by RBI); WPI = Wholesale Inflation (used by

Govt. for macro trends).

Q.2 Which institution published the cartoon book titled Raju & The Forty Thieves – A

Booklet on Modus Operandi of Financial Fraudsters?

(A) The Ministry of Finance, Government of India

(B) The State Bank of India

(C) The Punjab National Bank

(D) The Reserve Bank of India

(E) The Ministry of Corporate Affairs, Government of India

Correct Answer: (D) The Reserve Bank of India

Solution:

Step 1: Purpose of the Booklet

The booklet “Raju and the Forty Thieves” is aimed at creating awareness among the public

about common financial frauds and how to stay protected.

Step 2: Publisher Institution

It was released by the Reserve Bank of India (RBI) as part of its financial literacy and

consumer awareness initiatives.

Published by RBI

Quick Tip

Link RBI → Financial literacy → Cartoon books like Raju series = awareness against

digital frauds.

Q.3 Which company developed Vikram–S, India’s first private space rocket, that was

launched from Satish Dhawan Space Centre in Sriharikota on November 18, 2022?
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(A) Skyroot Aerospace

(B) Brahmos Aerospace Private Limited

(C) Lockheed Martin India Private Limited

(D) Indian Rotorcraft

(E) Mahindra Aerospace

Correct Answer: (A) Skyroot Aerospace

Solution:

Step 1: About Vikram-S

Vikram-S is India’s first privately developed suborbital rocket. It was successfully launched

on 18 November 2022.

Step 2: Developer Company

It was developed by Skyroot Aerospace, a Hyderabad-based private aerospace company.

Skyroot Aerospace

Quick Tip

Private space exploration in India began with Skyroot Aerospace’s Vikram-S in 2022.

Q.4 Who has been appointed as the Chief Justice of India in November 2022?

(A) Justice N. V. Ramana

(B) Justice U. U. Lalit

(C) Justice Yashwant (Y.V.) Chandrachud

(D) Justice Dhananjay (D.Y) Chandrachud

(E) Justice S.J. Mukhopadhaya

Correct Answer: (D) Justice D.Y. Chandrachud

Solution:

Step 1: Appointment Date
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Justice D.Y. Chandrachud took oath as the 50th Chief Justice of India on 9 November 2022.

Step 2: Background

He succeeded Justice U.U. Lalit. His father, Justice Y.V. Chandrachud, was also a former

CJI, making them the first father-son duo to hold the office.

Justice D.Y. Chandrachud

Quick Tip

Remember: November 2022 → Justice D.Y. Chandrachud became the 50th Chief Jus-

tice of India.

Q.5 Match the famous CEOs with the title of their biographies.

(A) A4, B3, C1, D2

(B) A1, B2, C3, D4

(C) A2, B1, C4, D3

(D) A3, B2, C1, D4

(E) A1, B3, C4, D2

Correct Answer: (D) A3, B2, C1, D4

Solution:

Step 1: Indra Nooyi

Her autobiography is titled “My Life in Full: Work, Family and Our Future” → (3).

Step 2: Gregory Zuckerman

He authored “The Man Who Solved the Market” (on Jim Simons) → (2).

Step 3: Peter Thiel

Known for his book “Zero to One” → (1).
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Step 4: Sheryl Sandberg

Author of “Lean In: Women, Work, and the Will to Lead” → (4).

So the correct matching is: A → 3, B → 2, C → 1, D → 4.

Option D (A3, B2, C1, D4)

Quick Tip

Biographies are often asked in exams. Remember Indra Nooyi → “My Life in Full”,

Peter Thiel → “Zero to One”, Sheryl Sandberg → “Lean In”.

Q.6 The first ever Wildlife conservation bond (a financial instrument) in the world, was

floated to conserve which of the following critically endangered species?

(A) Cheetah in India

(B) Water Buffalo in Africa

(C) Giant Panda in China

(D) Black Rhino in South Africa

(E) Opossum in Australia

Correct Answer: (D) Black Rhino in South Africa

Solution:

1. The World Bank issued the Wildlife Conservation Bond (also known as the “Rhino

Bond”) in 2022.

2. It was specifically aimed at conserving the Black Rhino population in South Africa.

3. Investor returns are linked to the growth rate of rhino populations, making this a unique,

performance-based conservation instrument.

4. Hence, the species conserved is the Black Rhino.

Black Rhino in South Africa
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Quick Tip

The Wildlife Conservation Bond is also called the “Rhino Bond” and is the world’s first

financial instrument tied to biodiversity outcomes.

Q.7 Which of the following is the world’s largest River delta?

(A) The Ganges River delta

(B) The Amazon River delta

(C) The Mississippi River delta

(D) The Nile River delta

(E) The Mekong River delta

Correct Answer: (A) The Ganges River delta

Solution:

1. The Ganges–Brahmaputra–Meghna delta, spanning India and Bangladesh, is the largest

river delta in the world.

2. It covers an area of more than 100,000 sq. km.

3. It is highly fertile and contains the Sundarbans mangroves, home to the Royal Bengal

Tiger.

The Ganges River delta

Quick Tip

The Ganges Delta is also called the “Sundarbans Delta,” famous for its mangroves and

biodiversity.

Q.8 Which organization, in October 2022, imposed a penalty on Alphabet for violating

anti-trust laws in India?

(A) Supreme Court of India
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(B) Government of India

(C) Niti Aayog

(D) Competition Commission of India

(E) Monopolies and Restrictive Trade Practices

Correct Answer: (D) Competition Commission of India

Solution:

1. Alphabet (Google’s parent) was penalized in India for abusing dominance in the

Android mobile ecosystem.

2. In October 2022, the Competition Commission of India (CCI) imposed a fine of over

|1300 crore.

3. Hence, the correct answer is Competition Commission of India.

Competition Commission of India

Quick Tip

CCI enforces the Competition Act, 2002 to regulate anti-trust issues and ensure fair

competition in India.

Q.9 Which of the following is the right description of INS-Arihant?

(A) Corvette

(B) Aircraft Carrier

(C) Frigate

(D) Nuclear powered Submarine

(E) Destroyer

Correct Answer: (D) Nuclear powered Submarine

Solution:
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1. INS Arihant is India’s first indigenously built nuclear-powered ballistic missile

submarine.

2. It completes India’s nuclear triad, providing second-strike capability.

3. Commissioned in 2016, it plays a key role in national security.

Nuclear powered Submarine

Quick Tip

INS Arihant is crucial for India’s nuclear deterrence as part of the land-air-sea nuclear

triad.

Q.10 Which of the following was NOT a reason associated with Sri Lankan economic

crisis of 2022?

(A) Decline of tourist inflow

(B) Decline in FOREX reserves

(C) COVID-19

(D) Shift towards organic agriculture

(E) Decline of fisheries

Correct Answer: (E) Decline of fisheries

Solution:

1. Sri Lanka’s crisis stemmed from heavy debt, falling forex reserves, inflation, and

economic mismanagement.

2. COVID-19 reduced tourism, a major revenue source.

3. The government’s sudden ban on chemical fertilizers worsened agriculture.

4. However, fisheries decline was not a significant cause.

Decline of fisheries
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Quick Tip

Sri Lanka’s ban on chemical fertilizers (2021) sharply reduced crop yields, worsening

the economic collapse.

Q.11 From the following, choose the Article in the Constitution of India that proclaims:

“It shall be the obligation of every citizen of India to safeguard and develop the natural

environment, including forests, lakes, rivers, and animals, and to have compassion for

living beings.”

(A) Article 14A

(B) Article 13B

(C) Article 51A (g)

(D) Article 15

(E) Article 21

Correct Answer: (C) Article 51A (g)

Solution: Step 1: Fundamental Duties of citizens are listed under Article 51A of the Indian

Constitution.

Step 2: Clause (g) specifically states: “It shall be the duty of every citizen to protect and

improve the natural environment including forests, lakes, rivers and wildlife, and to have

compassion for living creatures.”

Step 3: Therefore, the correct match is Article 51A(g).

Final Answer: C. Article 51A (g)

Quick Tip

Fundamental Duties are in Article 51A. Remember (g) = environment and compassion,

(h) = scientific temper, (j) = excellence.

Q.12 BTS (Bangtan Boys), the pop-music band, belongs to which country?
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(A) India

(B) South Korea

(C) USA

(D) UK

(E) Australia

Correct Answer: (B) South Korea

Solution:

Step 1: Understanding the question. The question is asking about the country of origin of

the famous pop-music band “BTS,” also called the “Bangtan Boys.” This is a general

knowledge question from the field of music and culture.

Step 2: Recognizing the group. BTS is a seven-member boy band well known worldwide

for their songs such as “Dynamite,” “Butter,” and “Permission to Dance.” They are often

associated with K-pop (Korean pop) music.

Step 3: Evaluating options. - (A) India: India is not known for forming international boy

bands of the K-pop genre. Incorrect.

- (B) South Korea: This is correct, as BTS was formed in Seoul in 2013 under Big Hit

Entertainment (now HYBE).

- (C) USA: While many American pop bands exist, BTS is not one of them.

- (D) UK: Known for rock/pop bands like The Beatles, but not BTS.

- (E) Australia: Not associated with BTS either.

Step 4: Final decision. Since BTS is the global face of K-pop, the answer is clearly South

Korea.

Final Answer: (B) South Korea

Quick Tip

Whenever you see the term “K-pop,” immediately link it to South Korea. BTS, Black-

pink, EXO, Twice all originate from South Korea.

Q.13 Match the following animals/birds with the Wildlife Sanctuary, National Park or a
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region that they naturally occur.

(A) A2, B3, C4, D1

(B) A2, B4, C1, D3

(C) A1, B4, C3, D2

(D) A4, B3, C1, D2

(E) A3, B4, C2, D1

Correct Answer: (E) A3, B4, C2, D1

Solution:

Step 1: Understanding the question. We need to correctly match four animals/birds with

the natural habitats where they are typically found.

Step 2: Recalling associations. - The Great Indian bustard is a large bird found in dry

grasslands, especially in Rajasthan and Gujarat. It is strongly associated with the Desert

National Park in Rajasthan. So A → 3.

- The Nicobar Megapode is unique to the Nicobar Islands, a rare bird that lays eggs in

mounds of sand and soil. Thus, Megapode → Nicobar Island Sanctuary (B → 4).

- Jerdon’s Courser is a nocturnal bird, critically endangered, and endemic to Andhra

Pradesh. It is protected in the Sri Lankamalleswara Wildlife Sanctuary (C → 2).

- The Pigmy Hog is the smallest wild pig in the world, found in Assam’s grasslands. It is

conserved in Manas National Park (D → 1).

Step 3: Mapping. So we have: A3, B4, C2, D1.

Step 4: Checking options. Option (E) matches perfectly with this mapping.

Final Answer: (E) A3, B4, C2, D1
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Quick Tip

In matching questions, first recall the strongest, unique associations—like Bustard with

Desert NP and Pigmy Hog with Manas NP—to quickly eliminate wrong options.

Q.14 Which former Prime Minister of India wrote “Kaidi Kavirai Ki Kundalian,” a

poetic compilation, while being lodged in jail?

(A) I.K. Gujral

(B) Lal Bahadur Shastri

(C) Chandra Shekhar

(D) Jawaharlal Nehru

(E) Atal Bihari Vajpayee

Correct Answer: (C) Chandra Shekhar

Solution:

Step 1: Understanding the question. It asks about a poetic compilation written by an

Indian Prime Minister during imprisonment.

Step 2: Elimination by knowledge of works. - (A) I.K. Gujral: Known as a diplomat and

for the Gujral Doctrine, not for poetry.

- (B) Lal Bahadur Shastri: Famous for slogan “Jai Jawan Jai Kisan,” but not linked with this

book.

- (C) Chandra Shekhar: Wrote “Kaidi Kavirai Ki Kundalian” during the Emergency, when

many leaders were jailed.

- (D) Jawaharlal Nehru: Authored “Discovery of India,” “Glimpses of World History,” “An

Autobiography” but not this title.

- (E) Atal Bihari Vajpayee: A celebrated poet, but his compilations have different names, not

this one.

Step 3: Confirmation. Chandra Shekhar’s jail time during the Emergency gave rise to this

collection of satirical verses in the “kundali” poetic form.

Final Answer: (C) Chandra Shekhar
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Quick Tip

Remember: Nehru → “Discovery of India,” Vajpayee → poetry with patriotism, but

“Kaidi Kavirai Ki Kundalian” belongs to Chandra Shekhar.

Q.15 Which of the following is not a site associated with the Indus Valley Civilization?

(A) Bhimbetka

(B) Mohenjo-Daro

(C) Lothal

(D) Ropar

(E) Harappa

Correct Answer: (A) Bhimbetka

Solution:

Step 1: Understanding the question. We need to identify which site does not belong to the

Indus Valley Civilization (IVC).

Step 2: Evaluating each site. - (A) Bhimbetka: Famous for prehistoric cave paintings, dated

to the Paleolithic and Mesolithic age. NOT part of IVC.

- (B) Mohenjo-Daro: Major IVC city in Sindh, Pakistan, known for Great Bath and advanced

drainage system.

- (C) Lothal: An IVC site in Gujarat, famous for dockyard and bead-making.

- (D) Ropar: A Harappan site in Punjab (India).

- (E) Harappa: A key IVC site in Punjab (Pakistan), first excavated in 1921.

Step 3: Conclusion. All except Bhimbetka belong to the Harappan/IVC context. Hence,

Bhimbetka is the odd one out.

Final Answer: (A) Bhimbetka

Quick Tip

Keep in mind: Bhimbetka → Stone Age; Harappa, Mohenjo-Daro, Lothal, Ropar →

Indus Valley Civilization.
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Q.16 Which of the following breakthrough decisions was taken at the COP 27 (8-20 Nov

2022, Sharm el-Sheikh, Egypt)?

(A) Establish and operationalize a “global early warning system” for weather events

(B) Establish and operationalize a “global ecosystem services payments mechanism”

(C) Establish and operationalize a “loss and damage” fund

(D) Accept and operationalize a “global carbon tax and trading mechanism”

(E) Accept and operationalize a “Net zero” target for every country

Correct Answer: (C) Establish and operationalize a “loss and damage” fund

Solution: Step 1: Understanding COP 27

The 27th Conference of Parties (COP 27) to the UNFCCC was held in Sharm el-Sheikh,

Egypt, in November 2022. It brought together world leaders to deliberate on urgent climate

issues. The focus was largely on adaptation, climate finance, and the concept of “loss and

damage.”

Step 2: Decoding the options

- (A) Global early warning system → Although discussed under resilience, it was not

finalized as a landmark decision.

- (B) Ecosystem services payments → Conceptual, but no global mechanism adopted.

- (C) Loss and damage fund → This was the historic breakthrough of COP 27, to provide

compensation to vulnerable nations for climate disasters.

- (D) Carbon tax/trading → Still debated, not adopted.

- (E) Net zero → Countries had voluntary targets, but no new binding acceptance for all.

Step 3: Final Selection

Clearly, the establishment of the “loss and damage” fund was the historic breakthrough

decision.

Correct Answer: (C) Establish and operationalize a “loss and damage” fund
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Quick Tip

Remember COP 27 = “Loss and Damage Fund.” This is the landmark outcome.

Q.17 Who of the following is not a Gig worker?

(A) Uber driver

(B) Plumber on call

(C) Freelance worker

(D) Zomato delivery boy

(E) Person running a salon

Correct Answer: (E) Person running a salon

Solution: Step 1: Defining a gig worker

Gig workers are individuals who work on short-term or on-demand tasks, often through

digital platforms. They do not have permanent salaried jobs.

Step 2: Analyzing each option

- (A) Uber driver → Works per ride, app-based → gig worker.

- (B) Plumber on call → Temporary, service on demand → gig worker.

- (C) Freelance worker → Works per project, flexible → gig worker.

- (D) Zomato delivery boy → Delivery per order, app-based → gig worker.

- (E) Salon owner → Runs a permanent business, not a gig worker.

Step 3: Final Answer

Hence, a person running a salon is not a gig worker.

Correct Answer: (E) Person running a salon

Quick Tip

Gig worker = temporary, flexible, app-based or freelance. Permanent business owners

are not gig workers.
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Q.18 Match the new names of the given companies with their respective old names.

(A) A2, B3, C1, D4

(B) A2, B1, C4, D3

(C) A1, B2, C3, D4

(D) A1, B3, C4, D2

(E) A3, B2, C1, D4

Correct Answer: (A) A2, B3, C1, D4

Solution: Step 1: Recall the renamings

- Google → Alphabet (2)

- Facebook → Meta (3)

- Phillip Morris → Altria (1)

- McAfee → Intel Security (4)

Step 2: Combining

So A2, B3, C1, D4 = Option (A).

Correct Answer: (A) A2, B3, C1, D4

Quick Tip

Mnemonic: Google–Alphabet, Facebook–Meta, Phillip Morris–Altria, McAfee–Intel

Security.
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Q.19 Who scored the maximum number of goals in the recently concluded FIFA World

Cup, 2022?

(A) Marcus Rashford

(B) Neymar da Silva Santos Junior

(C) Lionel Messi

(D) Kylian Mbappe

(E) Olivier Giroud

Correct Answer: (D) Kylian Mbappe

Solution: Step 1: FIFA 2022 context

Held in Qatar, Argentina won the World Cup beating France.

Step 2: Golden Boot

The Golden Boot is for highest scorer. Mbappe scored 8 goals, including a hat-trick in the

final.

Step 3: Checking others

- Messi → 7 goals.

- Giroud → 4 goals.

- Rashford → 3 goals.

- Neymar → 2 goals.

Step 4: Final Answer

So, Mbappe was the top scorer.

Correct Answer: (D) Kylian Mbappe

Quick Tip

Golden Boot 2022 = Mbappe (8 goals). Golden Ball = Messi (Best Player).

Q.20 Identify the sectors into which the Indian economy is divided, for the calculation

of GDP?
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(A) Agriculture, Manufacturing and E-commerce

(B) Primary and non-primary

(C) Agriculture, Defence, Information Technology and Manufacturing

(D) Government, Private and Social

(E) Agriculture, Manufacturing and Services

Correct Answer: (E) Agriculture, Manufacturing and Services

Solution: Step 1: Classification of GDP sectors

The economy is categorized into: Primary (Agriculture allied), Secondary

(Industry/Manufacturing), and Tertiary (Services).

Step 2: Evaluating options

- (A) E-commerce is just a part of services, not separate.

- (B) Primary/non-primary → too broad, not used officially.

- (C) Defence & IT are subsets of services/secondary, not stand-alone.

- (D) Govt/Private/Social → ownership classification, not GDP.

- (E) Agriculture, Manufacturing, Services → correct.

Correct Answer: (E) Agriculture, Manufacturing and Services

Quick Tip

GDP = Agriculture (Primary), Manufacturing (Secondary), Services (Tertiary).

Q.21 Which of the following animals are on the State Emblem of India?

(A) Lion, Elephant, and Horse

(B) Lion, Bull, and Elephant

(C) Lion, Bull, and Horse

(D) Lion, Tiger, and Cow

(E) Lion, Tiger, and Bull

Correct Answer: (B) Lion, Bull, and Elephant
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Solution:

The State Emblem of India is a representation of the Lion Capital of Ashoka, which was

originally erected at Sarnath by Emperor Ashoka. The emblem features four lions, with the

main lion symbolizing power, courage, and pride. However, the complete emblem also

includes other animals, specifically a Bull and an Elephant, situated on either side of the

lions. This reflects the richness of India’s cultural heritage.

Thus, the animals depicted on the State Emblem are the Lion, Bull, and Elephant, which

makes option (B) correct.

Final Answer: B. Lion, Bull, and Elephant

Quick Tip

The State Emblem of India draws its symbolism from the Lion Capital of Ashoka. It’s

important to note the cultural significance and the specific animals involved, as these

are frequently featured in questions related to national symbols.

—

Q.22 Match the United Nation’s Secretary Generals with their citizenships, at the time

of appointment.

(A) A2, B3, C4, D1

(B) A4, B3, C1, D2

(C) A1, B4, C3, D2

(D) A2, B4, C1, D3
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(E) A1, B4, C2, D3

Correct Answer: (A) A2, B3, C4, D1

Solution:

The United Nations Secretary Generals and their corresponding citizenships at the time of

appointment are as follows:

1. Kurt Waldheim was from Austria. 2. Kofi Annan was from Ghana. 3. Antonio Guterres

was from Portugal. 4. Ban Ki Moon was from South Korea.

Now matching the names with their respective citizenships:

- Kurt Waldheim (A) - Austria (2) - Kofi Annan (B) - Ghana (4) - Antonio Guterres (C) -

Portugal (3) - Ban Ki Moon (D) - South Korea (1)

Thus, the correct answer is option (A) - A2, B3, C4, D1.

Final Answer: A. A2, B3, C4, D1

Quick Tip

When learning about international figures like UN Secretary Generals, focus on their

countries of origin, as these are often central to their diplomatic roles and historical

significance.

—

Q.23 Which of the following is NOT attributed as a reason for Russian invasion of

Ukraine?

(A) Ukraine’s refusal to export wheat to Russia

(B) Ukraine has citizens of different ethnicities

(C) NATO’s expansion into East Europe and Ukraine

(D) Russia fears that Ukraine, with the support of NATO, will claim back Crimea

(E) Saving people of Russian origin in the eastern region of Ukraine

Correct Answer: (A) Ukraine’s refusal to export wheat to Russia

Solution:
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The invasion of Ukraine by Russia has been attributed to several geopolitical factors:

- Option (A), Ukraine’s refusal to export wheat to Russia, is not a major reason cited for the

invasion. While economic sanctions and trade have been part of the conflict, the refusal to

export wheat is not one of the primary justifications given for the Russian invasion.

- Option (B), Ukraine’s multi-ethnic society, has been a factor in the conflict, with Russia

citing concerns over the rights of ethnic Russians in Ukraine.

- Option (C), NATO’s expansion into Eastern Europe and Ukraine, has long been a point of

contention, with Russia viewing NATO’s enlargement as a direct threat to its sphere of

influence.

- Option (D), Russia’s fear that Ukraine, with NATO’s support, will reclaim Crimea, is

another key factor in the Russian invasion. Crimea’s annexation by Russia in 2014 remains a

flashpoint in the conflict.

- Option (E), the desire to protect Russian-speaking populations in Ukraine, is often cited by

Russia as a justification for intervention in the eastern regions of Ukraine.

Therefore, Option A is the correct answer, as it is not a primary factor in the invasion.

Final Answer: A. Ukraine’s refusal to export wheat to Russia

Quick Tip

When studying geopolitical conflicts, focus on understanding the primary causes, such

as territorial claims, security concerns, and ethnic tensions, rather than isolated events

or trade disputes.

—

Q.24 Which of the following countries did not qualify for FIFA World Cup Qatar 2022?

(A) Morocco

(B) Senegal

(C) Switzerland

(D) Italy

(E) Australia
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Correct Answer: (D) Italy

Solution:

For the FIFA World Cup 2022, Italy, despite being a historically successful football team, did

not qualify after a shocking loss in the qualification rounds. On the other hand, countries like

Morocco, Senegal, Switzerland, and Australia did qualify for the tournament.

Thus, the country that did not qualify for the FIFA World Cup Qatar 2022 is Italy.

Final Answer: D. Italy

Quick Tip

World Cup qualifications can be full of surprises. Always follow the qualification

rounds closely, as upsets can happen, even for historically strong teams.

—

Q.25 Which institution was renamed as “Niti Aayog”?

(A) Government Policy Commission

(B) Infrastructure and Development Commission

(C) Planning Commission of India

(D) Economic Planning Council

(E) Policy Aayog of India

Correct Answer: (C) Planning Commission of India

Solution:

The Planning Commission of India, established in 1950, was renamed as Niti Aayog in

2015. The term ”Niti Aayog” stands for the National Institution for Transforming India,

which was created to foster cooperative federalism and promote sustainable development.

Thus, the correct answer is (C) Planning Commission of India.

Final Answer: C. Planning Commission of India
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Quick Tip

Government institutions may undergo structural reforms to align with evolving policies.

The renaming of the Planning Commission to Niti Aayog reflects a shift in approach

towards inclusive development and policy-making.

Essay

Q.26 Choose ONE of the three arguments given below and develop a coherent essay

that critically evaluates it. Support your analysis with relevant claims, reasons and/or

examples. The essay should not exceed 250 words.

Argument I. Risk is the essential need of soul. The absence of risk produces a kind of

boredom which paralyzes in a different way from fear, but almost as much.

Argument II. Rapid decarbonization to fulfill India’s Net Zero commitment will have

business consequences.

Argument III. Someone with half your IQ is making 10X as you because they aren’t

smart enough to doubt themselves.

Answer Question no. 26 if you choose Argument I.

Answer Question no. 27 if you choose Argument II.

Answer Question no. 28 if you choose Argument III.

Solution:

Essay:

Risk is a concept often feared, avoided, and misunderstood. Yet, it is undeniably an essential

part of the human experience. In the words of the argument, the absence of risk produces a

form of paralysis that is distinct from fear but just as damaging. At its core, risk is not simply

about uncertainty or potential failure; it is a catalyst for growth, change, and discovery.

Without it, life can become monotonous and stagnant. The key point in the argument is that

risk is the essential “need of the soul.” This implies that the very essence of life is enriched

and invigorated by the challenges and uncertainties we face, and without them, we lose our

sense of purpose and excitement.
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The absence of risk does, indeed, breed a type of boredom. When we are not actively

challenging ourselves, we fall into complacency. In this state, the mind lacks stimulation,

and the spirit becomes dormant. This paralysis does not result from fear, as fear is an

emotion we can overcome, but from the dullness of routine, where there is no risk to jolt us

into action. Boredom slowly drains the vitality from our lives, and we begin to feel

disconnected from our ambitions and desires.

Furthermore, risk is the fundamental driver of progress. Every significant achievement,

whether in science, business, or personal growth, has been driven by the willingness to take

risks. Think of groundbreaking inventions, entrepreneurial ventures, or even life-altering

personal decisions — all of them involve an element of uncertainty. This uncertainty is not

something to be avoided but embraced. When we take risks, we challenge the status quo,

push the boundaries of our knowledge, and expand our understanding of what is possible.

Without risk, we would remain in the comfortable confines of our established world, unable

to venture into new territories of achievement.

The argument’s claim that “risk produces a kind of boredom” resonates on a deeper level

when we consider the psychological and emotional aspects of life. The absence of challenge

not only stifles progress but also affects our emotional well-being. Risk-taking, though

uncomfortable at times, is what keeps life interesting and filled with potential. It encourages

us to take the leap, face the unknown, and in the process, grow as individuals.

The key to a fulfilling life lies in balancing risk and reward. Too little risk leads to

stagnation, while excessive risk can lead to recklessness. Therefore, it is essential to find a

balance where risk becomes an ally rather than an adversary. This equilibrium allows us to

grow, adapt, and evolve, both personally and professionally. Risk is not an obstacle to be

feared, but a tool to be embraced in order to unlock the full potential of life.

Quick Tip

Taking calculated risks is not only an essential part of personal growth but also a neces-

sary component of innovation. Embrace uncertainty, and use it as a stepping stone for

achieving your goals.
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Q.27 Argument II. Rapid decarbonization to fulfill India’s Net Zero commitment will

have business consequences.

Solution:

Essay:

The call for rapid decarbonization in the effort to meet India’s Net Zero emissions target by

2070 is not just an environmental concern; it is a complex issue with profound business

implications. The speed and scope of the transition away from fossil fuels to sustainable

energy sources will shape India’s economic landscape in ways that are both challenging and

transformative for businesses across sectors. While the long-term benefits of

decarbonization—such as a cleaner environment, reduced health risks, and increased energy

efficiency—are well-documented, the short-term business consequences are often more

difficult to predict and manage.

Short-Term Costs and Adaptation Challenges:

Rapid decarbonization means that companies will face immediate costs related to

transitioning their energy infrastructure, supply chains, and production processes to more

sustainable alternatives. Industries that heavily rely on fossil fuels, such as energy,

manufacturing, and transportation, will need to invest heavily in cleaner technologies,

including renewable energy sources, energy-efficient equipment, and carbon capture

technologies. These capital investments are likely to increase operational costs and may pose

challenges for smaller businesses, which might struggle to bear the burden of upfront

investments. Furthermore, this shift will likely disrupt existing supply chains, especially

those dependent on carbon-intensive industries, creating a period of economic adjustment

that may involve job losses and significant disruptions to business operations.

Competitive Advantage for Early Adopters:

While the immediate impact of decarbonization may be disruptive, businesses that act

proactively will gain a competitive advantage in the long term. By transitioning early,

companies can position themselves as leaders in the green economy, tapping into new

markets and attracting consumers who are increasingly concerned with sustainability.

Moreover, with global pressure to meet climate commitments, businesses that continue to

rely on carbon-heavy practices risk falling behind as governments impose stricter regulations
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on emissions and offer incentives for cleaner alternatives. This trend towards green

innovation will encourage more industries to shift towards sustainable practices, providing

long-term opportunities for businesses in the renewable energy, electric vehicle, and green

technology sectors.

Impact on Global Trade and Investments:

Rapid decarbonization also presents the potential for shifts in global trade dynamics.

Countries and industries that successfully decarbonize will likely see a boost in international

trade as they become competitive exporters of green technologies. Conversely, nations that

lag in their decarbonization efforts may face trade penalties or lose access to emerging

markets for clean energy and sustainable products. Additionally, investors are increasingly

prioritizing environmental, social, and governance (ESG) criteria when making investment

decisions. As India works to meet its Net Zero targets, there will be increasing pressure on

businesses to align with global ESG standards. Companies that fail to do so risk losing

investor confidence and access to funding, while businesses that embrace sustainable

practices will likely attract more capital, particularly from ESG-focused funds.

Business Opportunities:

Despite the challenges, rapid decarbonization offers significant opportunities for growth. The

shift to renewable energy sources, for example, will create new industries centered around

wind, solar, and hydropower. There will also be a growing demand for energy-efficient

technologies, from electric vehicles to smart grids and energy storage solutions.

Additionally, sectors such as agriculture, construction, and manufacturing will need to invest

in green practices to comply with new regulations. These changes will open new business

avenues, enabling companies to innovate and develop products and services that align with

global sustainability goals. Indian businesses that embrace decarbonization will not only

contribute to the environment but will also unlock new revenue streams.

Conclusion:

In conclusion, while the rapid decarbonization necessary to meet India’s Net Zero

commitment will undoubtedly have short-term business consequences—including increased

costs, disruptions, and adaptation challenges—the long-term benefits outweigh these initial

hurdles. Businesses that take a proactive approach to sustainability will gain a competitive
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edge, capitalize on emerging green markets, and foster innovation. However, it is critical for

policymakers to support businesses through this transition with incentives, subsidies, and

clear guidelines, enabling them to adjust successfully to a low-carbon economy. Ultimately,

the transition to a Net Zero future represents both a challenge and a significant opportunity

for businesses in India.

Quick Tip

Decarbonization is not just an environmental obligation but also a chance for businesses

to innovate and lead in the emerging green economy. Embrace sustainability as an

opportunity to grow.

Q.28 Argument III. Someone with half your IQ is making 10X as you because they

aren’t smart enough to doubt themselves.

Solution:

Essay:

This argument presents an intriguing perspective on success, intelligence, and self-doubt. It

suggests that the key to success is not necessarily intelligence but rather the ability to take

risks and believe in one’s decisions. The notion that someone with “half your IQ” is making

“10X” more because they are not burdened by self-doubt challenges traditional assumptions

about what drives success. While intelligence plays an important role in many fields, it is not

the only factor that determines financial success, career advancement, or personal

achievement.

The Role of Confidence and Self-Belief:

The central premise of the argument is that self-doubt hinders progress, while confidence

accelerates success. Many highly intelligent individuals are often paralyzed by overthinking

or excessive caution. They analyze every decision, scrutinize every possibility, and spend so

much time doubting their choices that they miss opportunities. On the other hand,

individuals who act without this over-analysis—who trust their gut instinct and take

calculated risks—often move faster and make more money. Their success does not stem
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from being “smarter” in the conventional sense but from their ability to trust themselves and

act decisively.

The Power of Action and Risk-Taking:

In the modern world, especially in entrepreneurship and business, success is often about

taking risks, moving quickly, and being adaptable. These traits are not necessarily linked to

high IQ but are frequently associated with lower levels of self-doubt. A person with half

your IQ may have the courage to pursue an idea or an opportunity without constantly

questioning it, whereas someone with a higher IQ may hesitate and spend too much time

analyzing risks. This delay in decision-making can prevent them from seizing opportunities

at the right time, while the person who doesn’t hesitate may end up achieving more due to

their speed and decisiveness.

Self-Doubt and the Limitation of Potential:

While self-doubt is often seen as a sign of intelligence and careful consideration, it can also

be a significant barrier to success. Doubting oneself too much can lead to missed

opportunities, failure to act, and an overall lack of confidence in one’s abilities. High IQ

individuals may feel that they need to overthink decisions and seek perfection, but this can

lead to indecision and stagnation. On the other hand, individuals who trust their intuition and

move quickly may experience failure, but they also learn faster from their mistakes and

adjust their strategies more efficiently. This flexibility and speed of action often outweigh

intelligence alone in a fast-paced world.

Is IQ the Real Determinant of Success?

While IQ is undoubtedly important in many fields, it is not the sole determinant of success.

Many factors contribute to an individual’s ability to succeed, including emotional

intelligence, resilience, creativity, and work ethic. In the context of this argument, the key

factor is not the IQ of the individual but their ability to navigate the world with confidence

and determination. Someone with half your IQ may have fewer limitations because they do

not overthink their actions, leading them to take bolder steps and, ultimately, achieve more.

Conclusion:

In conclusion, this argument challenges the traditional belief that intelligence is the primary
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determinant of success. It suggests that the ability to act without excessive self-doubt may be

just as important, if not more so, than IQ. Success often requires quick, decisive action, and

the ability to move past fear and hesitation. Those who are able to trust their instincts and

take risks—without being paralyzed by self-doubt—are more likely to see success, even if

their IQ is not exceptionally high. Thus, the argument is a reminder that confidence, action,

and risk-taking are crucial components of achieving success in the modern world.

Quick Tip

Success often favors those who are confident in their decisions and unafraid to take

risks. In many cases, hesitation can be a bigger obstacle than lack of intelligence.
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